BF 1£100m FTE(4E2 1 LL—R)

(148]
1 8]
2[ 2]
3[ 5]
41 3]
5[0 1]
6[ 7]
[ 4]
[ 6]
[3%8]
1[ 8]
2[ 1]
3[ 3]
4 5]
5[ 2]
6[ 4]
7[ 6]
8[ 7]

[5+8]
1[ 5]
2[ 2]
3[ 7]
4 8]
5[ 4]
6[ 6]
7 3]
8[ 1]

(7481
1 3]
2[ 2]
3[ 6]
41 8]
5[ 7]
6[ 5]
7 4]
8[ 1]
[948]
1 6]
2[ 7]

3[ 3]1003%F (L

47 1]
5[ 5]
6 4]
70 2]
8[ 8]

( +0.4

m)

995 R MEME 1 (B £ » £)12.62

165/ #& W1 (&
1613 & {5321 (K
101E8 % FE X1 (&
213k W FE1 OR
814 H 51 (%
43k B EL CE
WMER £ 1 (F
( +0.5 m)
15100 | | K 1
2THE & BRAh 1 (ff
28330] I B =F 1 (74
177THH & A1 O
3154 £ = k1 (&
29%r B FFEk 1 (ke
263fx Ak pE1 (%
63H H PRELT (B
( -2.4 m)
25908 - ZEFl 1 (K
24345 JF RB1CGP
131 4E
107F8 % & 22 1 (=
19388 ff & 5
14150 i
3057% ] |
5544 [ FE g 1 (fip
( -1.6 m)
303 A M 1 (&
T H K#h1 L
253fH % —F 1 O
172w\ Fk1 (k
2091 #F & 21 (I
3134 Ak fF Ak 1 (Pe
69K )11 =1 Ok
495 W W1 (BR
( -1.8 m)
147= N Mk 1
20153 i
PR 1 (BS
Bl (F
TP 1 (e
A1
e A1 (8
#®1 (F

317K
1875 #f
29155 ik
1555 JR
221 | fi

HED Q-

Ny

fi]) 13. 10
18)13. 49
H)14.13
J5)14.16
Ji£)15.10
JF) R35
) Ri5

—)13.09
JIN13.23
8)13.71
4$)13.78
i) 13. 84
A)14.33
i) 14. 87
) 14.93

1) 13. 51
i¥) 13. 93
1) 14. 02
%) 14. 31
M) 14. 34
f#)14. 41
%) 14. 74
1) 16. 58

0 13.52
) 13. 54
) 13. 65
)13.76
F13.79
4+)14.55
) 14.76
H)17.70

.69
13
.02
.1
.21
.53
.81
.94

SEEIDTHD
R

[248] (0.0 m)
10 5] 105 ZnfE1 (B & [)12.89
2[ 2] 295%#0 B  HE1 R A F)13.26
3[ 3] 157 k1 (& R)13.45
47 6] 9M B #H K1 (G J2)14. 01
50 1] 67Hi R K41 (- M m)14.12
6 4] 83k Eyi1 (kM A —)14.48
1707 1k o k1 (& #)14.78
8 8] M K w1 0O > JiID1b.24
[448] ( +1.0 m)
105] N7EKE A1 O B 25 J7)13.33
20 6] 25030 &1 0N A %) 13.47
3[ 4] 31HFE A EZHE1 (B +)13.63
A0 1) 251+ 0F & N1 (FF M m)13.80
5[0 8] 3097 (i & 1 (fH 1410
6[ 2] 261#2 3 fdt —1 (& £%)14.15
1071 Tl =11 (B 7k £)14.63
8[ 3] 13378 HAMWKAR 1 (K 15)16. 22
[6%H] ( -3.2 m)
107 194E #EELGE T)13. 69
2[ 4] 33EiE KA1 CF ) 13. 81
30 5] M98 A& FeklL1 (& 22 28 m)13.93
40 8] 57H#c  Fn #E1 (K ) 14. 24
5[ 1] 139FF g ~rak1 (& k) 14. 67
6 2] 1271 4 221 (I E) 14.76
70 3] 8bMEH Wkl OF 28 £)14.90
8[ 6] 281 Ak 18 22 1 (B £)15.07
(8#8] (  -0.1 m)
107 3% T fE1G@ H)12. 80
2[ 5] 2679 % 1 (& W) 13. 11
3[ 3] 1854 K1 (& J5)13. 33
A0 6] 143/ H% =2 K1 ( i )13. 91
50 8] 2454k #E1 (b JII  7E)14.11
6 111023 N ¥ N 1 (88 FL Kt ) 14. 56
7041 973 b BEA 1 CE %) 14. 65
[ 2] 229K 5 f& 341 (% £ it
[104H]) ( -1.0 m)
10 4110094 B — %1 (H K)12. 87
20 8] 181k % FEK1(H &H H)13.74
3[5] 5B AN H1CE #)13.75
40 6] 173930 FH721 (% F £)13.81
50 7] 1294R & HE1 (P A7 9278 i) 13.82
6[ 2] 891EfE 51 (H % FH)13.94
70 3] 203E #F P A1 (0 () 14.13
8[ 1] T5HF M K1 (¥ ) 14. 42



(1148]) (
10 2] 1834
2[ 5] 159% %L
3L 6] 145558 k2 1 (i
40 4] 3BF BH BE1(E
5[ 8] 293 KBIZE KBS 1 (FF  Fn
6[ 3] 17942 % ¥ = 1 Cor
70 1]1033%E H KA1 (A X
[ 7] 31148 W EA 1 ( JE

[13#8]) ( -1.8 m)
1[0 8] 209Fa A #E 9K 1 (¥ « fk 23
2[ 2] S WK FEEA1 (K
3L 3] 217w Jy k1 (i
41 5] 223\ pEER 1 (B 72 1
SL7 221l AIEL (4 &
60 4] 26585 5t #hvlE 1 (2

[ 6] 2714 = K &1 (K

R
( +1.1 m)
10 3] 99% R
206] 3% T
3[ 5] 105w Znfl 1 (B &
41 4110094 H — ¥ 1 (H
5[08] 205% % #E1(+ H M
6L 7] 217k AER1 GH &
70 2] 1514 ¥R K1 (£ )t &
8[ 1] 165/ A&  WE 1 (&

-0.5 m)
MmZE1 (R
w1 ON

e ik 1 (B £ »
FE 1 (]

i) 13.
i) 13.
F)13.
) 13.
) 13.

39
53
53
53
9N

) 14.09
50 14.12
) Ri5

) 13.
J5)13.
M) 13.

35
82
89

1) 14.00
#)14.19
) 14. 66
) Ri5

)12,
) 12.
) 12.
K12
53)12.
)12,
)12
fi]) 13.

41
60
64
66
82
83
96
02

(12#8] ¢ +0.2 m)
108] 2391 W w1 (H 7 2 5)13.28
20 7] 155%% jg Wl AN 1 (U1 M) 13. 69
3[ 3] 103a M sl (1 #)13.73
410 2] 213t B 1 (F J7)13. 80
5[5 1A B G 53)14.57
6[ 4] 301/NEFLh KRR 1 (W ° 7 H5)14.94
T06] 1698 JF F1 (8 4 R)15.26
(14%8) ¢ +0.7 m)
104) 2054 & X1 (- B i $)12.95
20 2] 21 AER1GEH & m)12.99
3[ 3] 299 &+ == 1 (L #R H)13.59
40 5] G1RAMREE 1 (OF #)13. 73
5[0 7] 163 RA MRk A 1 (7 52)14.45
60 6] 247 4 61 (K6 ) 14. 86
[ 8] 255KV fF K1 (F ) Ri5



BF 2F100m FE(MEZ2AMLL—X)

[148] ( -0.7 m)

10 5] 245¢% K 2 (+
2[ 3] 217 T fE M N2 (1L
3[ 7] 259 A KEA 2 (K
4[ 8] 2635 M R FE 2 (B
5[ 4] 115H.E B JE 2 (#8
6[ 6] 61 GHv b2 (GE
70 111031/)~ B
8[ 2] 39k J& 2 (k&

[(3#8] (  -0.7 m)

10 3] 309 & 15 F2 G
2[ 6] 2814 |5 E A7 2 (F
3L 4] Ty IE w2 (3F
47 2] 313 7 7= K2 (/i
5[0 5] 22/ FI K2 (GH
60 7] 293 & K E 2 (F
101 315 H #o2 &
[ 8] 169mHE #m K2 (W
[5#8)] (  +1.7 m)

107] 68FfnH H 2 (i
2[ 6] 83H HF FH K2 (#
3[ 4]
4[ 8] 1050 & KFe2 (L
50 1J10155L (i 5% F2 (b
6[ 2] 9JUK kG2 (3¢
70 31100947 )1l &i 3k 2 (H
8[ 5] 91k o A2 (G

[748] ( -1.0 m)

101 218Kk R 2 Giff
20 71 T5/hE B4 2 (M
3[ 3] 103dL g B2 (/4
40 4] 3R &2 G
5[ 6] 265k it B K2 (&
6[ 8] 951N fEHE2 (Fd
70 5] 100 A 2 (&
[ 2] 219=1 {2 (k

[9%8] ( +0.6 m)
108] bB¥EAK HE2CK
20 6] 1722850 R 2 (k
3[ 2] 1650k k2 (&
A0 4] 34w ZEHE2 (R
5[ 3] 159fE H #FE K2 (N
6[ 1] 1014 & &2 (=
7051 1638 H =k 2 (
8[ 7] 89E 2 K K2 (H

E2 (B

J

WA
=
fn

&

=)

1290 % A5 #E 2 (P v E %

1

F &

1]

H- 3
v =

5 3

Fe 23

) 11.79
M) 12. 49
1) 12.59
) 12. 77
%)12.94
$)13. 43
Fe) 13. 47
79)13. 63

)12.23
) 12. 61
T)12.70
£)12. 81
)13.18
) 13. 86
1) 15. 52
R Ri5

) 11,71
—)12.42
) 12. 67
H)12. 83
F)12. 91
J£)13.07
M)13.17
) 14.32

)11.75
F4)12.59
#)12.85
FH)12. 86
H)13.12
J@)13. 52
4)13. 66
4 Riz

(28]
1[ 2]
2[ 4]
3[ 6]
4[ 5]
5[ 7]
[ 1]

[ 31103309 1
[ 811003F1 H

(4#8]
1[0 6]
2[ 3]
3[ 4]
47 7]
5[ 1]
[ 2]
[ 5]
[ 8]

(6+8]

10 71101374 1L

2[ 2]
3[ 8]
4[ 5]
50 1]
6 4]
70 3]
[ 6]
(8]
1[ 6]
2[ 7]
3[ 4]
41 5]
5[ 1]

( -0.1
109 &
2994 1
115 1
2470 A
20345 M
31N

m)
M2 (G
2Rt 2 (k
o2 (-
Fe N 2 (G
EAE 2 (
b 2 (
g2 (N
ook 2 (B
( -1.8 m)
239 P N2 (B
205%2 IRy Ah 4 2 (+
99k R K BG 2 (R
EC L Fodv 2 OS
517 &R 2 (K

2014 ] TE 2 () -

OTHE I ZEE 2 CH
2430 ik MR 2 (G
( +1.8 m)

B A2 (H
2 (7
17R &, /w2 (F
Mi=m ®RE2 7
8145 K T2 (8
1934 I8 $H 2 (&
305 M K& 2 (FE
85f i 2 (ff
( -0.5 m)

268Fn I E 2 (%
145 FE 2 (W
235 ik K2 (B8
18152 & =2 (H
218 H B2 (F

28311 A

60 31027/ IE KR 2 (&

70 2]
8[ 8]

(1o#8] ( -1.3

1[ 8]
2[ 2]
3[ 7]
4[ 5]
5[ 1]
6[ 3]
110 6]

[ 4]

133%n K
1A =]

BOK2 (K
¥ 2 (i
m)

ok 2 %

=2 (B

% 3 2 (i

M B 2 (F

261% & Kft2 (7

1738 1 #h ke 2 (%

A3 E KRR 2 O

1395 1 e 2 (|

2675 |11
240K f

635 A
11982 H

s
i H

TS
H NIE=

b
ik

B 23

o O ot

J£)11.91
M) 12. 43
412, 91
M) 13. 22
(1) 13. 49
) et
) R 15
5%) R 15

©)11.98
12)12. 40
)12 41
JI1)13. 20
E)13.717
%)
%) R 35
%) %35

) 12. 07
)12, 42
£)12.79
J5)13. 01
JE)13. 17
) 13.50
%)14. 63
) Ri5

) 12. 02
¥ 12. 27
H)12. 61
w)12.72
£)13.00
7)13. 36
1) 13. 44
5)14.19

W) 12. 22
) 12. 54
H)12.78

S 1) 13.08

%)13.09
4¥)13. 56
Ji) 14. 45
1) k15



[1148]) ( -1.2 m)

10 7] 22710 [ ik 2 (9
2[ 5] 143 & & N2 (

3[ 6] 55 H EHE2 (ff
41 4] 291v8 11 # A 2 ()
502] 69K T K2 (k
6[ 8] 1514 1 B K2 (¢
70 3] 315m & #f2 CR

(13#8) (  -1.6 m)
1[0 5] 255fk M 20 E 2 (F
20 3]1001#7 it Z2#d 2 (Fh
3L 7] NS 2 (4
47 2] 249 = Hi2 (I
50 4] 223fEA KHE2 (%
60 8] 163/ fxff2 (4
[ 6] 213\ #7 #BEH2 (OF

(15%88] ¢ -1.1  m)

1[0 5] 2293C & L2 O
20 7] 246t & A k2 (h
3L 4] 10790 %= =2 (&
40 3] 209~ M 3k 2 (&
5[ 8] 2953 ) 1L fE# 2 (R
60 6] 1851k 1% 952 (&
70 2] 155=1W§ i =} 2 Uh

Rk
( +1.4
17 4]
2[ 3]
3[ 6]
AT 2]
5[ 5]
6[ 7]
70 1]
8[ 8]

m)
24585 K
2185 K
68+ H
25578 H
10 &
161/)N 78
2399
303/ &

A2 (h
R 2 Gl
B2
7F 2 (R
HJE 2 (5F
WRE 2 (K
A2 (B
I Ik 2 (ke

T )12
il )12.
B H)12.

) 12.
) 12.
e A )13
) 14.

)11,
KRR )12
Z)12.
F)12.
7= F )13,
4914,

10
56
83
817
97
42
06

98
21
94
97
30
23

) Ri5

B)12.

JIE )12,
)12,

- K 23 )12,
2y )13
JF)13.

) 14.

20
45
47
82
30
37
68

49
95
56
58
61
14

) Ksd?
5 )11,
s )11,
D11,
F)11.
E) 11,
N a)11.
FO11.

18

[1248]) ( +0.5 m)

1[0 4] 161/h7 B AE 2 (K
2[ 6] 3037 & Ik 2 (K
3[ 3] 141E It /2 (R
A[ 5] 1570 | &7 2 (&
5[ 2] 213 G2 2 R
6[ 8] 23ZEpEE—2 (8
7071 13% f& Jr2 (&
[14#8) (  +1.3 m)

10 6] 187H & & A2 (18
20 5] 2TE/KEKES 2 (4
3[ 7] 6T#k
A1 4] 25]k Bf
5[ 3] 301% j&
6[ 8] 2712z = i A\ 2 (Fk

A2 OK

% A2 (k-

E)11.
FO11.
12,
FO12.
5 &) 13.
H )13
) 13.

M) 12.
& Jin12.
R 2% 1) 12.
i )13,

$E2 (W 3 & B9)13.

%) 13.

91
97
68
95
05
31
85

28
32
91
06
42
49

T0 2] 2534 A &2 G 11 H)14.93



5F 3100

(1#8]
1[ 8]

20 5]1013%F A 45 &

3[ 3]
41 6]
5[ 2]
6[ 7]
7 4]
8[ 1]

(3#8]
1[ 8]
21 6]
3L 5]
41 7]

[ 1110193 &

[ 2]
[ 3]
[ 4]

[5+8]
10 2]
2[ 8]
3[ 4]
40 1]
5[ 5]
6[ 7]
[ 3]
[ 6]

(78]
1[ 5]
2[ 2]
3[ 8]
410 1]
5[ 3]
6[ 6]
10 7]

( -0.7 m)
228 K &

SITMHEE K
8TRWH %
97T A

221007 B K
12& G =

303 P& i 3 (K

( -1.2 m)

292/~ R] ZE

2444 By G0

2026 34 H Ok 3 (& -

1339 By =t 3 (K
e 3 O
105N At 3 (&
157 &% FHOEE 3 (&
1TTRE 50 IR 1 3 (K
( -0.6 m)

291 0 243 ([
2520 & 15 &3 (FF
N7&Em & N3 (O
188Kk H 3 (i
43FF B W3 CH
247+ H 3 K 3 CH
181RE R & KRR 3 (H
2814k 22 KRR 3 (Hp
( +1.1 m)

204111 aE 3 (R
69 [l K5 = 3 (Ok
3091 A B oK 3 (i
031k BF B pk 3 (&
203 H HFKES 3 (1
271 Bl 3k = EAh 3 (Bk
13148 9% 4L 2 3 (&

N

»
g

B 0%

il

Fn

+ 7

w U

E (1487 4 LL—R)

B)11.13
=) 12. 01

)12.29
() 12. 38
) 12. 42
)12.76
JIN12.97
0 13. 26

¥)11. 58
%) 11. 89
72)12. 31
15)13. 06
N) 1
) %35
) R 1%
940 "5

H) 11,57
F5)12.10
J7)12.18
M) 12. 23
Ji7)12. 66
H)12.70
") Ri5

) Ri5

M) 11.76
H)12.03
£)12.09
)12.23
1) 12. 31
%£)12. 80
1) 12. 90

8[ 4110234 J e 3 (B KN &) 14. 57

[948]
10 2]
2[ 5]
3[ 6]
41 8]
5[ 4]
6[ 3]
70 1]
8[ 7]

( +0.8 m)
14300~ & Hf 3 (
2613 0 mESE3 (7
26775 H Hhik3 (%
OTft & 3 O
10137 3 o) — 3 (&
183v8 A7 AHH 3 (K
159/ B Il 153 OK
3R BB 3 (]

D

N

11.60
£)12.02
W) 12.08
12. 48
12. 63
12. 65
12.74
13.12

[248] (0.7 m)
10 4] 268E & 1&3F3 (4 WR) 11. 33
2[ 7] 165K W4 3 (& i) 11. 65
3[ 8] 25% A& wWE3 N A 1)12.02
40 31 63E ML BE A 3 (#% H)12. 43
506] 3170 E&&3 (F W #»)12.61
[ 1] 2433t % B3 F  » B XRG
[ 2] 2739#47/ Feyk #3 (3f ) Ri5
[ 5] 100 K& —HER 3 (ff + 7 )R
[4#8] (  -0.6 m)
10 4] 287H6 A #& A= 3 ([ Ht) 11,52
20 8] 99FE£ FnE 3 (& + &7 £)11.92
3[ 6] 1394  # K3 (& ik 12. 40
40 21 I5)\ K HIE3 (B8 &7 %)12.57
5[ 5] 205 RAMEEAKS (- B H $#)12.73
60 7] 231LHAHBEAR3 CGE H £)12.93
70 1110037 2 fF°F3 (B8 8 5 B¢)16.96
[ 3] 127&= 5 FH K3 (U= i) R 35
[6%H] ( +1.4 m)
10 111027 A+ # K3 (& #)11.57
20 411015F 1% # 23 (b F % B 11.97
3[ 3] 107 % %=F3 (I W) 12.17
40 5] 14&m HMm3 (L o =)12.25
506] 3104 JII  #3 (f )12, 41
6 8] 22374 ] 1 E 3 (& 7= 1F H)12.74
[ 2] 35 M Rik3 (& 2) R 35
[ 7] 12948 B ®3 (E&AYEN L) RIS
[8#8] (  +0.2 m)
105] 140)11 & # A3 (i ) 11.73
2[ 6] 315%/ pA A7 3 (W B$)11. 96
3L 7] 3t A P K3 (Bh 12,17
40 4] 5K T A3 CK #)12. 45
5[ 8] 307H % EEoc3 (M Ht) 12. 86
6[ 1] 151H H W A3 (FF & & )14.58
[ 2] VOFREPfm KRR 3 (7 BB 2% ) RiG
[ 3] 1660tk 1HIES3 (& li]) R 35
[104H]) ( +0.5 m)
101 98t A&3GF F2)11.89
2[ 5] Q337K HLTEG 3 (F H)11.96
30 3] M& & K3k #)12.35
A[ 6] 24937 F5 W13 (I F)12. 41
502] 1938 H BB A& 3 (& H)12. 60
6[ 4] 187[ & ZL B 3 (8 M) 12. 83
70 7] 1458 W i 4 3 ([ #)13.16
[ 8] 103K T AR 3 (¥4 ) Ri5



[1148]) ( -1.9 m)
10 6] 2937 JI Heth 3 (fh Fn FH)12.04
2[ 3] 185E i M K3 (f% ) 12. 04
30 1] 173ExkxV =033 (58 F £)12.33
41 41 2397 2 KER3 ( 2> 12 13)12.46
50 8] 245K H =3 (b JII ¥6)12.65
6[ 5] 1415 M ZE43 (IR ) 13. 62
7021 299+ ¥ A3 (E #K  [)14.53
[ 7] 1847 [ #3 (K i) K35
[13%8] ( +1.1 m)
10 4] 313%E )N 713 (M W A)11.57
2[ 8] 201k %y K3 (= - M £3)11.98
3[ 3]10318E B &y A7 3 (B2 S %% Pe)12.09
4[ 2] BIEA W3 (K 512,18
5[ 5] 2554 )i 1H K3 (R H12.27
6[ 11 674 % L K3 (I - A E)12.84
10 7] 85H H =3 (& 2 m™H13.17
[ 6] 2TWHEERERSS (M & JI)RIH
R %
( +1.4 m)
105] 228Kk & HifE3 (7 9 < #)10.99
2[ 4] 268 15 15343 (4 WE) 11.20
3[ 3] 28Tk A #t 43 (I H)11.29
41 11 292/ 37 72 %% 3 ([ H) 11,32
5[ 8] 2914 1 & 243 (A H)11.32
6 711027/ #F 8 K3 (% #)11.35
70 2] 14380 ™ B Hf3 ( b )11.46
8[ 6] 313%E JII  H3 (P W ©)11.64

[1248]) ( +0.4 m)
1[0 5J1033H & K3 (& 3¢ FH BH11.72
20 7] 29% B i3 A)12.09
3 6] 3014 £ &3 (W 3 A& #9)12.30
47 3] 2887 H 45 A 3 (f ) 12. 31
50 8] 61 J 1E3 (F #)12. 39
6[ 1] 305HH #F & #li3 (78 %)12.93
10 2] ST B K3 (K ) 13. 25
[ 4] 79fi  # &3 (& ) Ri5
(14%8) (  +0.3 m)
102] 21 KAM3GH B mE)11.78
20 3] T8 A K3 (E &k £)11.80
3[ 4] 2593H A 3 (K 1E)12.24
41 1] 2837 H f& A3 (78 A 46)12.52
5[0 5] 314K %—3 (M W £)12.55
6[ 7] 215 EAK R W3 (= - W &)12.77
70 6] 251357 Ffose3 (7 W rd)13.68
8[ 8] 1694F L& KAL3 (V8 4 R)14.03



BF £B200m FE(SMEZ2AM LL—X)

[148] ( -1.7 m) [2%8]) ( -1.4 m)

106] 228K/ Bifis (4 4 = )22.84 10 7] 217846 15343 (& i) 22. 85
2[ 5] 24534 Hoz3 (R JI 79)24.73 2[ 3] 249F % FE 3 (I Fn)24.16
3[ 7] 775 3 (B ok 43)25.58 3[ 8] 8IS PeA 3 (M & )24 30
A 1] 1074880 K3 (R - H)26.05 A[ 1] 25811 H {2 I 3 (& i) 24. 67
5[ 8] 267K H %3 (&4 1iH) 26. 24 50 2]103310 A = 2 (8 3¢ [H BE)24.99
60 2] 3175t M B A2 (F W 42697 60 6] 18385 A& £33 (K i) 26. 42
7041 1TT0VRE 5 3+ 3 Ok 55)27. 27 70 5] 22385 & Wk A2 (B 7= (F £)27.13
8[ 3] 23Lm # L2 W 4)28.20 8[ 4] 243K 1B B3 G~ I%5)30.23
[3#8] ( +0.6 m) [448] ( -1.2 m)

107] 69% [ B = 3 Ok /M) 23. 41 10 8] 80#B 2L H b 3 (f# T)23. 41
20 4] 33 A 3 G i) 24. 23 20 3] 19306 W K3 (& i) 24. 28
3[ 1] 1435 % #h#Es (& )24.42 3[ 4] 2398 = K3 (B 2 A A)24. T
A[ 5] 31 WEEH S G /) 24. 92 AL 6] 15KA A 4 K3 (B 4 %)24.95
5[ 3] 1733630 #t K3 (& Fl  45)25.04 5[ 5] 3113 L 3 (B )25.03
6 2]1019@%53%“1%3 (B & 4 AN)25.89 6L 7] 1815 KKE2(H & 1)26.80
[ 8] 85 #2228 )N, [ 2]11009%F IfF B& %% 2 (A K) K15
[ 6] 10105 K f& K2 (& M) &5

[5#H] ( -0.8 m) [64H] ( -1.9 m)

10 2] 292/ i 78 %% 3 (] ) 23. 25 10 2] 2054 473 (+ H i 4)23.45
20 1] 104 & nm-HE2 (5F ) 23.76 20 1] 25788 W — k3 (%F /M)24.57
30 8]1015% 4 1E 53 (I F % %) 24.65 3[ 6] 103% S W5 & 3 (7 4)24. 99
A[ 7] 309%% 1 & A 3 (M 7)24. 82 AL 7] 2BHTFEANIAA3 (K 4 H5)25.24
50 3] 24T K#E 5L7ZF3 G ) 25. 28 5[ 5] 129 HHREE % 3 (Fd 75 S27° ) 26. 13
60 4] 9TV JE SEHES (2 I%5) 26. 33 60 4] 1314 » A %13 (& 15)27. 54
70 6] 2290 H HEFR 2 (& £1)26. 41 708] 898 AL WAL (H % 14)30.09
8[ 5] 221PEMEIE KIS (FF 1E  4)26.85 [ 3] 43F[#F K723 G4 4 B &S
[7#8]) ( -0.3 m) [8#H] ( +1.1 m)

102] 2520 BH#v= A3 (Ff W ) 23.37 1[ 4] 1845 WA RN #i) 23.10
2 8] 2593E I & % 3 (K 1F)24. 36 20 3] T2k BEA3SCS Y JI)24.26
30 7] 29140 BT HE Sk 3 (i ) 24. 74 3[ 1] 633 AARIEHE 3 (1% /) 24. 85
4[ 5] 299/NSREERES 2 (B A [)26.18 47 6] 151/ A BRE3 (FE ¢ & —)25.20
5[ 3] 5B M2 Gk £)26.18 5[ 8] 271/h 18 % R 3 (Bk #£)25. 29
60 11 95 M K2 (7 5 K JE)27. 34 6[ 7] 18772 M £ 113 (18 HT) 25. 51
TL 4] BT SR 3 (5 - F )2 T [ 5] 161/ 8F Fi6E 2 (K i) R
[6] 221 #Ar2 (4 + = 5) 5%, [ 2] 255M0 i ¥/ 2 (R W) KR35
[9#H] ( -1.2 m) [10#48]) ( 0.2 m)

10 5] 2601 A& K3 (K iF)23.56 10 4] 28746 A fE 43 (1 ) 23.19
20 4] 34 FEAr 3 (E i) 24. 63 2[ 8] 203(F i &k 3 (7 111) 24. 46
30 7] 2617 £2aL3 (5 1) 24. 80 3[ 1] 283 &3 (T A 525,87
A0 6] 301K B #HE3 (> F & 55)25.20 AL 51 16910 A4 T F3 (8 4 iR)26.39
5[ 8] 305% % # K2 (i 52)26. 45 5[ 3] 99T B A2 (R + » 4)27.21
60 21 61T A 23 (OF %) 27. 06 61 6110234 & bt =b 3 (5% R K R 27. 42
703] 828 ¥ E2 (W §2)27.12 70 2] 2093 B A %2 (% - A5 )27 98
8l 11 9uA a2 (% 1£)29. 04 [ 7110133 [ # B 3 (1% % B &S



[1148]) ( -0.5 m)
103] 140)11 & 6 A3 (&
20 11 31 =E463 (8%
3[ 4110038 7, (L% 7% 3 (B4
AL 7] 313 A AR 3 (Pd
5[ 2] NI AK #E{3 (H
6 8] 2174 fE  HE 2 (1L
[ 6] 15785 A &3 (&
[ 5] 2734 FF i ik 3 (OF

[13%8] (  -0.3 m)

1[0 4] 2934 # — ¥ 3 (H
2[ 7] 1597k ¥ & 3 OX
3[ 5110315 )1
41 3] 2175 W
508] 91&1H
6[ 6] 1455 H -~ L2 ([
[ 2] 251= W FfnE 3 (£

[15%8] (  -0.5 m)

107] 81H L KRR 3 (B
2[ 5] 1394k B2 & 3 (I
3 2] 214% w A3 (nf
A7 3] 7041777V 3 (K
5[ 4] 303 KE HE2 (kK
6[ 8] 201 1
70 6] 119w &

RS

( +0.3 m)

10 3] 271546 & 33 (&
20 5] 287H# A A 3 (I
3[ 8] 252H H#H = AN 3 (ff
417 1] 80#P ZE B 3 (18
50 6] 1844 A WL 3 (K
6 2] 69FF [ M5 =3 (k
[ 4] 228K & HifgE3 (&
[ 7] 292/ 7] 22 % 3 ([if]

K3 (G
& 77 3 (L

N2 (A

BE 3 (3

a2 (k-

P
i

B 23

n

E o

Z

H
ECRR

T

4k)23.78
)23.99
F52) 24. 66
)25 14
Ji1) 26. 56
) 28. 48
W) i)
) Ri5

) 23. 85
/i) 24.10
Fc) 24. 54
1) 24. 68
1) 26. 03
#1)26. 13

) i

Ji£) 24.13
k) 24. 98
JI1)25. 48
M) 25. 82
R)25. 83
%%)26.10
1) 27. 04

W) 22. 57
) 23. 02
FH)23. 17
T)23.19
fif) 23. 22
) 23. 46
) R 15

) R 35

[1248]) ( +0.4 m)

10 2] 178 H# K3 (k
20 8] 19 #F Jbt—3 (f#
3[5] TMEH FAMHE2 0N
40 3] 1383HF A HE 3 (K
5[ 6] 1M1EHI}ETA 3 (IR
6 4] 51N BEGES3 (K
[ 7] MMHZ%Z i3 (E

[14%8]) ( +0.4 m)

10 5] 268K W53 (4
2[ 8] 248K ] i3 (HF
3[ 2]1027TK ¥ F5 B3 (%
47 3] 16591 % #i il 3 (&
50 6] 2414 = h 3 (F
[ 4] 35k FF fR#E3 (E
[ 7] T5¢s K #&=3f2 (&

P

) 23.92
T)24. 31
JI)25.13
1) 25. 78
#)26. 33
) 27. 69

%) 58

1) 23. 58
) 24. 22
7) 24. 89
lif]) 25. 26
J11)26. 01
) Ri5

r) Ri5



(132 14 L L—X)

%% i | 4 O O m %
[14H]
1[ 8] 252 Ei#v= N3 (] W m)5b2.31
2 6] 1/ =23 (B o &=)57.05
3[ 3] 1394 g £k 3 (i 4k)57. 93
4[ 5] 57H E HA2 (K ) 58. 37
50 111009/ & H KA 2 (H K)1:02. 43
6 7] 671F A 4 A3 (- m23H)1:05.19
[ 2] 255 =1l 3 (B ) &35
[ 4] 241K =0 #3 (R JIN) R 35
(3#H]
10 4] 248K [ 5i 3 (&D fH)52. 69
2[ 81103348 7 E .03 (& 3 [H F)54.80
3[ 3] 2394 2 REKEE 2 (H » 4 )55 11
4[ 6] 115%% & K3 (B8 7 2%)58.30

5[ 5] 244BF W, K#3 G »  IRF)58. 61

6[ 211015 # L3 (U T % F7)58.79
70 11 129 #2& Hr 3 (A LN K)1:03. 44
[7] 21 W %¥3 (F # A KF

[548)

10 4] 18452 Wi #13 (K 4 51. 58
20 8] 31 M k3 (58 £)56. 26
3[ 3] 314 #Ek3 (L )58.13
A[ 2] 29176 % |52 (7 )59, 23
5[ 1] 183 & 43 (K 41)1:02. 79
6[ 6] MW AR fEZF30CS ¥ JIN1:03.32
707 251m7H ARG 1 FF M F9)1:08.43
[ 5] 217 fiiEe (v &= IS,
[748]

10 2] 268K #iFE3 (4 8) 54. 27
20 4] 259%% M 2 (K iF)56. 54
3[ 5] 14548 1 HYEA 2 ([ ) 56. 93
47 1] 247%F He 2 R FH)1:01.42
5[ 8] 25%74E M2 (N f4 #%)1:01.52
60 7] 1574 FIFE2 (& ) 1:03.09
[ 31102375 BE  # H13 (#8 R K B) RIS

[ 6] 793 BE M5 3 (e ) &%
[948]

103] 2578 1 — k3 (BB /M) 53. 81
2[ 8] 205/ bk #H 2E 3 (+ a i $2)56. 13
3[ 4] 1M19A 4 = K3 (G & A £)57.90
A 1] 22Tht B WS (4 F = 95)59.42
5[ 5] 18565 M 7 k3 (f& ) 1:00. 26
6[ 611031/ #1953 (2 % % F2)1:01. 32
7L 7110198 & FnJE 3 (B 1= 4£ A)1:02. 11
8[ 2] 31789 Il  #3 (F #A #1:07.10

(28]
1[ 3]
2[ 8]
3[ 2]
40 1]
5[ 5]
6[ 6]
70 4]
8[ 7]

(4#8]
107]
2[ 3]
3[ 5]
41 4]
5[ 2]
6[ 6]
10 8]
[ 1]

(6+8]
1[0 5]
2[ 2]
3[ 4]
4 1]
5[ 8]
[ 6]
[ 3]
[ 7]
(8#8)
10 7]
2[ 8]
3[ 5]

260f% K B3 (K
1301 a3k 3 (5

9y 3% E K3 (5F
3097 A A #h 2 (|
305K F/vA 23 (48
26148 0 kA2 (7
1718 F0E 3 (%
10398 — =2 (|

80 £
209% &
83/ A
335 EE
95/n Z

105755:% il 2 (E
10154 w2 (=
24995 & R 3 (1]

B3 (FE

ST 3 (P
73

1258 B B K3 0K
N A fws2 OF
1430 & &3 (

2811 H EES (B
99B9 HR BB 2 (ff
201K R 2 K2 (=
85k &K #2 (fF
63FR AWK AL 3 (%

1582 #
3064~ H
2937 5
47 3] 1793 H
50 1] 2634 )11 #R & 2 (%
[ 2110034 £ % 4 3 (B4
[ 4] 203fRAAR—HB 3 (1
[ 6] 118 & H£3 4k

[1048]
1[ 3]
2[ 1]
3[ 4]
40 7]
5[ 8]
[ 5]
[ 6]
[ 2]

WK 3 (&
BEHR 3 (fH
K3 (R
B2 G

A =3 (F
1691 1 Z&# 3 (7
267H % % K3 (4

178 fnm ;3 (k=

S51hnpE  mkE 3 (K
245 By 3 K| 2 (

43/ R 3 G

49K 7

223 (/M &

H 3 (- k2N

Rl

)
i

\\/
B 23
IR

N

i/f
H
N

fn

O

&
X

i
It

1) 53. 43
f5)55. 98
J2)56. 47
4)58. 14
5)1:01.08
%)1:01. 80
4)1:03. 42
£)1:04. 02

T)54.08
1) 55. 22
—)55.93
) 55. 99
J&)59. 23
) 1:00. 98
) 1:02. 21
) &5

J11)54. 24
Jii) 58. 86
)58. 87
+)59. 55
#)1:00. 61
%)
) Rim
) R 15

) 54.59
%)55.35
)57 44
H)1:00. 14
[i])1:01.26
bt) R 15
(L) R 15
%) Rz

1) 54. 31
R)57.18
7H) 57. 60
) 58.76
E)1:02.55
75) )
i) hIF

K3 (M = & M) Ri5



[1148] [1248]

10 5] 2434 1= FE{-3 (3 » I#)54.18 103] 81/ L A3 (5 J£) 52. 43
20 3] 2102 8 & M3 (k& - & 2% ) 54. 89 2[ 8] 61 /A H# 3 (OF 4£)53. 90
3[ 6] 5% M =2 Gk +)56.78 3[ 5] 1594 B K —3 (S 7H) 56. 04
A1 2] 27185 K 75 3 3 (K 12)59. 05 AT 4] 18TIL A 3 (4 A7) 58. 13
50 7] 2290F & #£ A2 (& E)59.06 507 215WH #£ A3GH B [£)58.33
6[ 4] 89/hAk B3 (H B R9)59.99 6[ 2] 30178 i Fn& 2 (VW 9 A B)1:02. 11
T01] 5504 &sho (fh R ©)1:07.26 70 1] 303/ & ik 2 (K R)1:04. 40
80 8] 23 sk A2 (GE @ 4)1:10.62  8[ 6] 127 Jf B k2 (& 1) 1:05. 94
[1348)

10 2] 258 1L M fE 243 (&) ) 53. 60

2[ 7] 20445 AR ACHR 3 (i 1L1)54. 87

30 3] 313/ 4x [Hiks (9 WA 43)58.59

4[ 6] 283% W M H2 (8 A 46)1:02.53

5[ 4] S3WM B #E3 W ) 1:06. 16

6[ 5] 1331 ¥ b2 (K f5)1:07. 80

[ 8] 974 AL MEEL3 (& %) 48,
RS

105] 2520 B = AN 3 (£ M 1)50.78

20 4] 1844 Wi  #13 (K %1)51.75

3[ 7] 260j% K #3 (K 1F)51. 83

AT 6] 248E [N #:3 1) 52. 04

50 8] 2581l {23 (B /H)53. 28

6[ 2] 25788 1 —mk3 (#B ) 53. 32

70 3] 81H L% KEE 3 (B J#£) 53. b8

8[ 1] 6I[I A 13 (F 4)54. 07



%% paplisl 8 OO0Om %
[148]
1017] 218E Mg ¥H K 3 (1L ) 2:04.
2[12] 119%H H k2 (& 2 2 1)2:06.
3[18] 3094 HH HH ¥ 3 (M 4)2:09.
4719] 1331 A& i3 OK 5)2:10.
50 4] 2499 81 Y3 (I 1) 2:10.
6[14] 12T & M2 (I ) 2:10.
7071 95KK Zn&k2 (F§ & Bt J@)2:15.
8[21] 317&H M w3 (F W #)2:16.
9[ 2] 311EH A BEAES ( JE )2:18.
10[16] 245Kk BF Ha b 2 (Fp I 74)2:18.
M8l 2=y FKE3IGH /B 1)2:19.
120 9] 13955 K o+ 3 (JiE k) 2:19.
13[ 51 227{F s #EM5E 3 (3 & & BF)2:21.
14111]11019= % FHE 3 B = £ N)2:24.
15[13] 9957 = #2553 (B - 7 &)2:24.
16[22] 79% H B3 (G T)2:24.
17101 5 W KfAM2 CR £)2:29.
18[15] 398 HF #hi K2 (&= 75) 2:30.
190201 193 A M %k 2 (& M) 2:38.
20( 1] 612 ¥ W1 (OF $)2:44.
[ 3] 13%k® FfnE 3 (5L B) Ri5
[ 6] 11 H A2 (& %) Ri5
(3481
1013] 2021 A ¥ K2 (& - H %)2:05.
2[ 3] 158} W K3 (& R)2:05.
3[ 4] 315 7 11 3 R ) 2:009.
Al17] 91w B B3 G %) 2:10.
5[11] 3054 1 K43 (#H %)2:11.
6[15] 31HIE B A3 (6 5)2:12.
7019110314 45 A3 (B2 St % Bg)2:13.
818] 247 )1l K& 3 (#F H)2:14.
9[21] 27HEHE H K3 (¢ & JID2:16.
100 7] 1653 v #x3 (& ) 2:17.
110 1] 75 Fnth 3 (¥ ) 2:19.
12[12] 25584 111 =23k 3 (- ) 2:20.
130 9] 259%% % Fe A 2 (K 1E)2:23.
141 5] 301 M= 3 (W 9 4 B)2:24.
15[14] 267 1 E4h3 (& WR) 2:25.
16[ 6] 85HE4 RIE2 OF 728 £)2:31.
17016] 205f2 & FH 21 (+ B i £)2:36.
18[ 2] 1010 E M1 (= M) 2:41.
19[10] 694 K H1 Gk ) 2:58.
20[20]1023E ot F5 A 1 (5 H KB &) 3:04.
[ 8] 673 # K3 (k- ®MNL RS

06
03
10
26
55
59
11
65
04
66
40
85
89
13
56
61
93
97
33
41

90
96
18
61
82
24
80
62
19
n
15
65
48
03
03
93
97
04
15
17

[248]
1[0 8] 188+ J/ L3 (8 1) 2:06.
2(17] 2174%  # —3 (b ) 2:06.
3[21] 151:#E ¥\ &k 3 (B¢ Y & —)2:07.
AT13] 12977 (b Wf 3 (P A 2% 1) 2:10.
5[20] 20378 & i3 (F ()2:11.
6 7] 1457 ik KR 3 (i ) 2:13.
70 5] 51 R A K3 (K 55)2:19.
8[16] 153 % F —2 ( s )2:20.
9[ 6] 2235 i FE K 3 (B 7= I £)2:22.
10[18] 313N fi kst 3 (5 WH ) 2:26.
1M04] 169 H H 2 (8 4 RN)2:26.
120 2] %o EHE3 GL I H)2:27.
13[11] 239 )k fEE 2 (b 7 2 &)2:21.
14015] 181K it Bp2 (H & +)2:28.
150 3] 29140 J5t JR #v 3 (Jif] H)2:29.
16[12] 33FEHIR 21 (F H)2:39.
(1] 1R¥ FH+E2Gh %) Ri5
[ 9] 2414 2 K304 3 (F JI) R35
[10] 635& M 73 (% H) R 35
(14] 3587 H o fh 3 (& ) R 35
[19] 89f A FiEA 1 (B B )RS
(448]
105] 6RnUy)—3(CR #)2:00.
2[21] 306/ H FEWR 3 (FH %)2:06.
3[16] 215771 & N2 (= - M £)2:08.
A4719] 243K FRIE K2 G5 »  IF)2:09.
5013] 1794t K # 2 CGor H)2:11.
6 3] 17385 K #ABE3 (38 F #)2:13.
70151 211"k H 4f A7 3 (BK #E)2:15.
8l11] 71z @3 s > Ji)2:16.
9[ 7] 157#h H %%3 (4 R)2:16.
100 171027k £ A&k 3 (& ) 2:19.
1ML 2] 25128 KM3 (FE H mM)2:20.
120 8] 213%EMN K2 G W JF)2:22.
13[ 9] 1798 %.03 (E o &)2:23.
14710]101548 2 &R 23 (1 F 5= Pg)2:25.
150171 3B B # =} 3 () H)2:25.
160 6] 23 MW ZEA2 EE B £)2:29.
170 4] 2214 5w K2 (F % H)2:29.
18[14] 10741 )1 B2 2 (4= 1) 2:30.
19[20] 103/ 11 A 2 (7 1) 2:30.
20 [12] 1009377 Iy K & 3 (H K)2:31.
[18] 55/ % fE3E2 (fh B ARG

G2 A LL—R)

17
15
A
81
217
64
40
40
24
39
93
19
31
45
03
49

83
32
37
84
62
86
48
86
97
13
20
40
07
21
94
05
93
19
83
02



(5%H]

10 8] 2013
20111 183F4 (L
3[1411033=%
47 91 117% i
5[ 5] 258:iL
6[ 3] 187/ th
70 6] 2293 )1
8191 293+ )1
9[15] 9/ %
10[16] 1013k i
110 7] 2997 #K
12[12] 143%5 #h
130 1] 13177 H
14[ 2] 814
15[18] 177/
16[ 4] 283% H
170131 20955 &
18[17] 279%f H
19[20] 261 1]
20[10]1001%% ji
21[21] 14177 %5

RS
1[ 4]
2] 5]
3 7]
41 3]
5[ 6]
6[ 1]
10 2]

[ 8]

20211 A<
119%¢ T
2017 1
2185 15
183#4 111
1881 Jit
1582

HEK3 (-

L3 (KR
J& 3 (4
%2 (7
K2 OX
% E 3 (
W2 (5=
S 3 (f
HE 2 G
A3 (H
A3 (b
7R 3 (

M3 (5
3 (B
R3O
&2 (1

53 (-

BE®R 3 (E
2 (4

® 2 (h
B 1 (1R

6N YU —3 CR

Aok 2 (=
g K2 (&
MR 3
3 (1l
L ¥E3 (K

L3 (M
WK 3 (4

:05.
:06.
:06.
:07.
:07.
11.
14.
14.
15.
18.
19.
19.
20.
21,
22.

31
14
95
32
40
51
29
61
19
14
04
"
24
05
94
85
21
98
16
90
67

H Z2)2
i) 2
B 2
i) 2
&) 2
M) 2:
B)2:
H)2:
F)2:
) 2:
H)2:

)2:
185)2:
JiE) 2:
M)2:
() 2:22.
S 1)2:23
%) 2:35.
%) 2:36.
1) 2:45.
5)3:02.

X
Bi 73

:00.
:05.
:06.
:07.

99
92
36
13

)2
7%)2
)2
7%)2
N)2:08.15
#8)2:09. 02
m7)2:10. 46
N Ri5

T
B H



BF 1£1500m F&E

QE:D|
1[22]
2[16]
30 1]
4112]
5[ 4]
6[13]
7(14]
8[10]
9[ 6]
10[ 7]
11[ 8]
12[ 3]
13[ 9]

(28]
1[12]
2[16]
3[ 8]
41 4]
5[ 2]
6[15]
1[21]
8[14]
9[ 3]
100 1]

11[25] 10094th FF

12[13]
13[ 5]

(3481
1017]
2[ 4]
3[14]
4116]
5[12]
6[ 9]
70 7]
8[18]
9[24]
10[25]
11[20]
12[ 3]
13[19]

(4%H)
1[ 3]
2[ 8]
3[ 2]
4114]
5[11]
6[23]
70 1]
8[ 4]
9[12]

306 & Bl (7H
Mg ER1L O
25Ji7 fi(ﬁﬂ 1 OR
201 {5 4%
259K Ji f
26585 A
3T ik
143 M ff %E
IN K I
2037 H P KES 1 (H
274 S s KA 1 (e
19387 H Fo A1 (&
10585 A K1 (Ek

(jt

83% H & 31 (¥
315 I s 1 OR
17708 %7 & =k 1 (O
179 1 & w1 CGir
2099 H ikl
283 H Fo H B 1 (4
2635% M z2 b1 (%%
253E N BESF1 R
9 F H Bl (R
203 ATEH 1 (
fE#81 (H
24311 A F’éfi(l(
2274, )1 (

1878 4
261/~ t
31 1
217/ By

NSO
BN T (R
Mt (L
o7 ik M N1 G
NI B2 31 (F
1598 H M2k 1 OS
147 K1 (W
267 vE M HE 1 (%
61F9 iy Xik1 (OF
NDEE #£5Rx1
229/ 9 R 1 (&
185+ B e f 1 (18

1073k 4+
2519 H
1312
1650 B A%
1573 oK1 (&
181\ # A1 (H
161730 KRB 1 CR
205 K1 (-
Nz E =108

{29

—1 (=
J& S 1
41

1

(i
5

=

5 El (k-

B 0%
yi
H

ui

F A

(s - % 28

ZN

+ »

ECyR

—+=
=

Nt

%

F)4:
i) 4:

1) 5
%%)5
1E)5
)5

) 5:

)"
Jé)s:
H1)5:

JIDS

1) 5:
[H)5:

i) 4:

#%) 5
)5
)5

H)5:
fi]) 5
fH)5:
)5
H)5:
R)b:
%) 5:

B)5

M) 4:
B%)4:
B4

NE)
=)0

1H)5

555!
JIN5:

(A% 5 4 LL—R)

53.
53.
:03.
:07.
:07.
:09.
14.
15.
17.
19.
124,
25.
28.

96.
96.
:01.
:06.
:09.
13.
13.
16.
17.
18.
18.
23.
:31.

96.
57.
58.
:01.
:07.
:07.
:07.
:15.
:16.
:18.
:22.
:23.
124,

:51.
:05.
:05.
:05.
:06.
:07.
:07.
11.
16.

88
92
44
317
47
59
88
21
16
20
57
817
05

63
89
47
80
08
67
83
13
44
46
49
51
08

53
86
60
317
25
55
817
11
82
54
31
"
14

09
24
21
60
52
49
59
06
31

14[23] 183 ¥ Bm 1 (K 1) 5:29. 06
15[21] 3095 A HE - 1 G £)5:29.08
160 2] 89 N #KI1(H ¥ [)5:29.25
17015] 115k /81 (B8 4 %)5:29.33
18[24] 24985 )2 FE==1 (I F1)5:32. 66
19[11] 2730 He K1 (OF F7)5:40. 32
20(25] 35N &Rl (% FA)5:41.12
21[20] 67K [ 1 (% - M2 F)5:42. 51
22[18] 313 H KHeE1 (P #H  4%)5:44.05
23[19] 293K Zpk 1 (2 A)5:44.93
24[17] 2472 W BH K1 (& ) 6:00. 63
250 5] 295’4 H e KER 1 (U2 A% F)6:20.95
140171 2154 —#1 Gl & [)5:31.26
15[24] 311/h=E K Hi1 ( JR )5:32.03
16 [18] 6345 A e KA 1 (% H)5:32. 07
17023] 213/hAREEZ A1 (B M8 J7)5:32.78
18[ 6] 24195 (1 w& A 1 (H JI)5:36.77
190 9] 1M1 A& 1 (R /£)5:43. 65
20[19] 155%% i & K1 () ) 5:43. 66
21[20] 1014bAFfEHEEE 1 (= H)6:01.55
22[ 7] 43=WN WIE1 G - JH)6:08.48
23[10] 303A & H M1 Gk R)6:08. 67

[11]  5mfE &K1 CE ) Rim

[22] BTv7vya g1 (K ) &35
14011] 3178 B 1 (F W £)5:24.70
15[15] 129 4% # B 1 (B4 222 1)5:32.93
16[22] 21 JR i & 1 (Fk #)5:43.73
17010] 81747 1y 7ty by 1 (8% Ji£)5:43. 86
18[13] 291% B FH1 (4 ) 6:03. 90
190 6] 33#F B B -1 (& H)6:07. 83
20231 103/ H fm— 1 (¥4 4%)6:23.08

[ 2110235 H Ha b 1 (s LK B) it

[ 1] M@y BFE1 (4 %) Ri5

[ 5] 1692 A eH1 (FH & R)XRG

[ 8] 299 &F A1 (E R H)RIS

[21] 2554 ZZ i1 (F ) Ri5
10[15] 13928 E2 40 1 (B Jk)5:17. 86
110 9] 1738 (1 221 (% F| £)5:18.30
12[21] 1 )it #1 (Gh $3)5:22.97
130 5] 127(7 ¢ =1 (k= J0)5:24. 42
14[13] 1454 m —EH 1 (i £1)5:24. 83
15[10] 245%2 1 sz 1 (0 )il 76)5:27.84
160 71 851LMRF==PUEA 1 (OF A% 49)5:29.65
17024] 2219 5 PP 1 (F #E +H)5:30.65
18[18] 223/N8 KEE1 (& 7= iF £)5:37.24



19[19]
20[16]
21[20]

R
1[14]
2[ 8]
3[ 2]
41 4]
5[12]
6[ 3]
7[11]
8[10]
9[ 7]
10[ 9]
11[ 6]
12[13]
13[15]
14[ 5]
15[ 1]

N4 ) w1 Gu 1l
I1=F% & 1G0E0 A
T5iHE iR 52 KB 1 (%

315 I i A 1 O
10738 & PEA= 1 (P
305 FH Bl (FH
NiggR ERL 7 B 2
1878 A Aonl
208 it 1 (1l
ST I Bk AN 1 (8
261/ B AL (F
16512 %7 K&k 1 (&
251N B JE 1
83 H & k1
25)50 7% K EA 1
1574 3H H K1
1312 W 1
177v8 B g 3k 1

5)5:43.
—)5:48.
75)6:00.

57)4:46.
W) 4:48.
%)4:53.
JE)4:56.
1) 4:57.
N)4:58.
5)4:58.
%) 4:59.
ii]) 5:00.
F5)5:03.
—)5:03.
%) 5:06.
7)5:08.
15)5:08.
#)5:13.

63
93
03

95
42
42
85
95
38
60
19
20
80
92
14
54
10
22

22[17]

697F Kk Kb 1 Uk

) 6:26. 98

[ 6] 230 #iE 1 (b 7 h B)RS

[22]

S  1F £ 1 (K

5 Rig



%% P i | 1 5 O O m %
(148]
10 4] 6FRUyU—3 CK #)4:18.
2[ 9] 201958 MEX3 (& - H #X)4:18.
3[21]  TIyHKEE LA 3 (4 7)4:20.
4124] 9% W3 GF F2)4:24.
5[25] 3064 17 23 (fH ) 4:28.
6[ 3] 259112 & K3 (K F)4:28.
7017] 1148 m®m #503(E o 7)4:29.
8[ 8] 1165(0t# =3 (B5 7~ 2)4:31.
9[ 7] 18THH IR = B3 (I8 HT) 4: 36.
100 6] 2414 A B K3 ( JI1)4:36.
10 1] 2131 B R2 GL B JE)4:36.
12[13] 31{F ik FnE 3 (8 5)4:43.
13[23] 311FH B A 2 ( Ji )4:45.
14[19] 142%F  #f 3 (R ) 4:46.
150 2] 1774 5 = 83 (I 4 4:47.
16[12] 1274 B K2 (e - JiH)4:48.
170161 77k 2222 (E Xk  £)4:49.
18[20] 159+ = ¥R K2 (OK iH) 4:52.
19[11] 151/ HFEL 3 (FF Y6 & ) 4:52.
20[10] 61F H fEH #h 3 (OF #)5:01.
21[15] 6788  #F K3 (= - M2 F)5:02.
22 5] 133%& (L &3 (K 15)5:20.
23[22] 221 & WA K3 (F #HE 1)5:39.
24[18]110057& 7. B&—3 (B4 # /5 i) 5:59.
[14] 1531 H W E 2 ( B ) Ri5
(3481
108] 72kH # A3 0 > Jih4:22
2(18] 80f® )t A wE 3 (fi T)4:22.
3[22] 2157% - FH3 (= - H £)4:22.
A[19] 103198 58 B k2 (B2 ¢ = Be)4:24.
50 1] 243K W (k3 & » k) 4:25.
6[24] 16511 1 X3 (& lif]) 4:33.
70 5] 251 Fu¥e3 O /4 1%)4:36.
8[10] 223 FHATAIE 3 (B 7= 1J H)4:38
9l 7] 8ER th#a3 OF 72° £)4:39
10[17] 81 W 73 (¥ iE) 4:43

11[23] 1055 )11 $RyE2 (B & H
I

)

)

)

)
12[ 211001 E9r2 (Ff K *ﬁ 1) 4:46
130 9] 3054 & #7E3 (58 %) 4:48.
140 3] 19 E#3 (B £ 2 m)4:49.
15[16] DbHEHE PBH2 CK ) 4:49.
16[20] 23A&KFF Z‘F2 EE H £#)4:50.
170141 25545 11 & & 3 (& ) 4:50.
18121] 2993 &% Fn k3 (k= #x  H)4:56
19[12] 2655 i #f 5 2 (& ) 4:57.
200 6] 1)1l #EE#2 (f %)5:02
21[ 4] 39¢ H 2 (e 7)5:07
22[15] 193 KPEE 2B 3 (& H)5:13.
[13] 291/~ ¥R Al -K 3 (i ) R 35
[11] 30141 N 1% 3 (W 9 A %) Ri5

14
81
63
90
55
80
65
49
11
35
53
12
89
22
42
89
45
30
43
69
47
21
34
46

23
40
82
02
95
21
93

.29
.13
.45
.23
.28

(2%8]

G2 A LL—R)

1[25] 230+ |l 0 M 3 (& F)4:22.68
20 2] 2444 $hE2 G »  IK)4:22.80
3[10]1003%% ji  Z=8 v 3 (B8 #H = P)4:22.89
4124] 2475%)11 8 KER 3 (Al H)4:25.76
5[ 5] 203% A 3 (F 1) 4:26. 41
6[ 3] 1730 M B 2 F £4:32.03
7014] 26774 [ BE 3 (&4 W) 4:39. 44
823110275 Wg =3 (¥ $7)4:39. 48
9[ 8] 14748 W ¥ &2 W H  +H)4:42.09
100 9] 317hnEE =3 (N WH £)4:43.42
11[018] 79 H [l £ 2 (18 T)4:47.19
12[16] 2055 R W& K2 (+ H T $)4:41.94
130171 16975 ¢ KIES3 (15 4 R)4:49.39
14[12] 131% ¢ BB Ffo2 (&4 75)4:49.70
15[13] 316% #F #H = 3 OR %) 4:50. 51
16[ 6] 638 F¢ ¥ H 2 (5% H)4:51.57
170 7] 35#0 H M K3 (& ) 4:54. 83
18[20] 313/#k WA FH 2 (B ¥ 4)4:55.47
19[11] 227 £ £: 03 (3= 4 = #%)4:56.49
20191 38k HE W& &3 (] ) 4:56. 90
21[ 1] 95#fE JF W iE 2 (P & Bf J&)4:59. 84
22 [22] 103tk #& #n k2 (W8 4%)5:23. 46
23[15] 27975 g K Hi3 (E 4 5:30. 06
24[21] 251 B9 & K1 (Ff W F9)5:32.44
[ 411015k )1l ¥R 3 (10 F % b)) Ri5

(448]

108] 2021 A ¥ K2 (& - M %)4:25.16
2[14] 2098k 5 78 N 2 (fE - k& A% 1) 4:25. 77
3[18] 260% [ = K3 (K F)4:25.92
A4710] 2290k & Fn 3 (& H)4:33.42
5[21] 1811 H EHmHR3 (H &H +H)4:34.55
6[23] 2T L2 @G £ )I)4:36.44
7[20] MR BHHw3Os v JID4:41.5]
8[ 6] 245(F ML AT 2 (B )il 7H)4:41.87
9[17] 188/ Ji L3 (M 1) 4:42. 55
10[15] 101HﬂEP K3 (E H)4:43.53
111 5] B EE2 K ) 4:43. 88
121 2] 183HEEI J I NRECN i) 4:48.09
13[16] 1013k P8  — % 2 (fl & 5 [)4:48.16
14[11] 91+ Ha #£3 Gu b )4:49.32

15[24] 129%4 L

16[ 91103311 H

18[19] 757
19[12] 100475 #F

21[ 1]
22 [22]
[ 7]
[13] 2714

991/ ik
137

5500 %

M2 (B A 9228 ) 4:50. 81
BlJr 2 (& 3¢ E BH4:51.68
170 3] 1854 14 H HB (f&

I 2 (F

mE2 (8 R E
200 4] 139/NBh)llvE

3 (JE

i) 4:54.03
[#4)5:06. 48
i) 5:16. 89
4£)5:18. 83

wmiE2 (k £ » #5)5:22.49

&2 (5
2 (fh
K a3 (K

&

#)5:59. 61
) Ri5
) Ri5



(5481
10 8]
2[13]
3[ 1]
4112]
5[17]
6[ 5]
7[15]
8[14]

218K M5 FH K3 (1
184111 55 € 523 (K
15/ 15 Wik 3 CR
18672 H 7% 3 (&
97t& M HM A3 Ca
2005 ¥ g 3 (I
TAVZE R — 1 2 (R
1573 3 (4

9[23]10098 # & ¥k 2 (H

10[ 4]
11[24]
12 [22]
13[ 2]
14[ 3]
15[21]
16[20]
17116]
18[11]
190 7]
20 6]

[ 9]

[10]

[18]

[19]

iR B

N AR®E 3 5
1078 A4 2 & 3 (=
1454 1 &2 2 (i
212 65 =463 (G
83& KR 3 (&
309 [ viE 5 3 (A
3P BN 2 (F
14315 ] 3kt 3 (
239FF 5 WAL 2 (b
293 11 3 (R
303[H & k2 (&
69FE I ) — 1 Ok
260m gk 2 (7
283K K AKOE3 (4
273% H fig 3 (3

1[15] 100375 & 2% ] 3 (B4

2[ 8]
3[ 2]
41 4]
5[ 6]
6[14]
70 9]
8[13]
9[ 3]
10[10]
11[ 7]
12[ 1]
13[ 5]

14111103195 3& B K2 (B2

[12]

6T —3 CR

2019 & K3 (% -

115 AR AR 3 (4
184 11l §& 523 (K
315JE B Wik 3 (R
230+ [ Rk 3 (R

21578 - 3 (& -

80fm e Ay vE 3 (fFF
21815 FH K3 (1
1864 H 22 & 3 (f%
9% HH W3 (5F
2443 0 HE2 G

127k H #% N3 O

B 23

5
=)

i
M 2
Fn

N)4:18.
) 4:21.
P$)4:21.
J5)4:24.
%) 4:25.
Fn)4:35.
) 4:35.
R)4:38.
x)4:39.
JEL) 4 40.
W) 4:41.
K1) 4:46.
) 4:50.
—)4:53.
4% 4:58.
H1) 4:59.

)5:02.
5)5:02.
H)5:16.
R)5:21.
) 71
%) Ri5
9 R 35
) R 15

) 4:16.
#=)4:17.
Z)4:17.
#)4:17.
41 4:18.
#7)4:18.
E)4:19.
Z3)4:20.
T)4:21.

67
23
37
45
67
13
48
96
13
62
23
99
63
42
99
20
317
65
24
86



BfH A LL—R)

%% paplisl 3 O0O0Om %

[14H]

1019] 260 [ # K3 (K 1F)9:28. 37
20221 2013 gk k3 (= « M £3)9:28.58
3[29] 2445 W Hm4h3 G5 » 7)) 9:28.69
A[14] 183iFE R & K3 (K 41)9:31. 84
5[21] 267/ &K 3 (4 1) 9:32. 54
6271 3061= 11 3 ($H %7)9:35. 15
7(17] 98 H & =3 (5F 2£)9:41. 66
8[ 3] 29 % £ B3 (I #)9:48. 68
9[ 6] 217=7# #h 43 (1L ) 9:51.97
10[31] 258k = #2 S A #%)9:59.50
11025] NI ARIEZN 3 (F B 25 J7)10:03. 35
120201 1193k i & 3 (77 92 2% 1)10:11. 21
130 4] 51 % 3 (K B)10:15.76
14710] 115k B2 (B8 2 2)10:19.86
15[23] 95 A & E 3 (7 & K J@)10:21. 47
160 21 2931 N W& =} 2 (r F1 ) 10:32. 60
17091 MEREREWwEF2 O~ >~ J11)10:35. 61
[248]

1[30] 230+ 1L #f E 3 (5= )9:31.65
2[15) 243K H {Fk3 F » 1k)9:31.86
3[13]1003%5 fig =4l 3 (B8 s 7 B%)9:32.19
4711] 57f% W =3 (K #)9:33. 56
5[12] 2594 )& A& 2 (K 1F)9:33. 85
6(28] 79% B Fnyr2 (f T)9:35.22
7[22] 2231E A % K3 (& 7= F £)9:40.05
8[ 8] 2654 J E2 (& FH)9:55. 11
9[ 1] 203i=fE H K2 (b 111)9:55. 86
10[ 3110330 A+ # =} 3 (4 3¢ [EH ) 9:59.12
11[32] 316 ~  B#2 OK 5$)10:02. 16
120 6] 247K (L X 2 (HF 1) 10:07.09
13[19] 157 1 =83 (& 77)10:08. 89
140201 994 W 413 (% + & 49)10:10. 81
15[10] 173K 7 #HERE3 (& H £)10:17.51
16[31] 317/ A & A2 (F  #E #)10:18.94
170171 209Kk F 53 (& - &k A 1)10:20. 45
[34#8]

1021 72k H # A3 OS> JI)9:29.34
2[10] 315)% f5 Ak 3 CH 17)9:30. 90
3[25] VA1ZEHEM — W1 2 (1R £)9:31. 44
4[ 8] 80wt w3 (& 7)9:31. 48
5[0 5] 131z H M3 (&5 15)9:34. 93
6(12] 3 H K3 (# H)9:41.64
T 2] 1294 ¥ 3 (A2 [1)9:42. 84
8[14] 22911 A& w2 (& £)9:52.91
9[ 9] 3051& ik A5t 3 (7H %)9:53. 86
10[29] 2054k ¥ =} E 3 (- H i #5)9:56.28
11023] 119 H KES3S E #)9:59.17
12[16] 3113 LA IKER 3 ( JR )10:01. 40
13[15] 163k W3 (A 26)10:14. 34
14131 179/ % 5% 2 CGor H)10:15. 27
15[20] 1875 h K2 (fE H7)10:19.18
16[18] 1073# H =it 3 (&= $%6)10:26. 24

18[15]
19[ 8]
20[16]
21[12]
22[ 7]
23[33]
24 5]
25[24]

151%5 #h,
357k g
309 & 8¢

FEA 2 (P
3 (%

i N3 (i

14368 i KRB 3 (

2557 F&

BH YN 3 (L

2914k = AP 3 (I

103 & iy
67%5 M

feek2 (

it 2 (k-

26 (281103172 /A HE#h 3 (B2

271[26]
[32]
[ 1]
[11]
[13]
[18]
[30]

18[14]
19[ 4]
20 [21]
21 [25]
22[29]
23[ 2]
2471 5]
25[26]
26 [16]
27[23]
[ 7]
[ 9]
(18]
[27]
[24]
[33]

17[11]
18[31]
19[ 3]

812 &
5082 H

H %2 (B
= 2 (fip

1658 A IH—RB 3 (‘&

139+ 5
KPNPN
YIS
2734t

145111 35k
28375 A4
127K &
15% 2
27% M
21 =1
1691 Ji

313 i

918 R
2511% H
271 7% 3568
10198 7k

23 A

61)1] %

18411 5 f

193%% A&

31 E
97/\ k2
227/ 55

20[ 6]1015% H

21[30]
22 [28]
23[19]
24[32]
25[22]

174 H
30375 11
21377 7K
181K 4
2493 Ji&

[ 1110274 H

[ 4]
[24]
[26]
[27]

33K JiE
245FF M
1615 1
2614 M

[ 711009

[17]

2991 k5

23 (1
3 (i%
fd K3 CR
X% B3 (OF

g1 32 ([
=& 2 (i
HEFR 2 (4
AR 3 (P
P2} 3 (fh
K3 G
%912 (7

#73 (7
g1 FH 2 (i
%53 (F
B e 3 (Fk

2 (=
B 953 (R

Fiz b 2 (8
- NENC=
B2 (3
B3 (1
753 (k=
K2 Gk
B2 (R

L2 (H
777']132 (J[I

3 (&
5L 32 2 (&
gt Ak 3 (H
fiEE 2 (K
B2 (5
=E2 (H
w2 (k

e

HE # B Bt

ﬁ—
£
D

s

—+=
=

M

&
=

—)10:
f2)10:
) 10:

)11
P11
) 11
)11

) 18
i) &2 15
1) &35
) K15
) RIS
) R85

K 10:
H6)10:
M) 10:
) 10:

) 10:
) 10:
M 10:
)11
) 11
) A&
M) A8
) 8
%) A
) &35
H) &35

) 10:
Iz) 10
#)10:
Fe)10:
=) 10:
)10
J&) 11
)11
A 11
) 7o A
1) 18
75) 7 A8
) 718
1) f-18
K) Ri5
M) &5

38.
44.
56.
:04.
- 05.
:06.
:07.
) 11:21.
Be)11:21.
BE)11:21.

22.
22.
23.
21.
J11)10:41.
43.
45.
55.
:06.
10.

32.
36.
38.
52.
53.
56.
:02.
:05.
7.

25
96
16
93
25
32
97
22
25
99

33
10
01
96
95
80
81
12
06
89

11
08
15
46
817
24
93
07
18



N

1051 72kH F A3 OGS > JI1)9:20.38

2[ 7] 2607 [ #LOK 3 (K 1£)9:21.27
3[ 31100375 fig Z {3 (B | = B7)9:21.34
A[ 9] 315/ % Ik 3 O #$)9:21.79
5[0 2] 1A1ZHFEM — 1 2 (IR F)9:21.89
6[10] 80wt v 3 (f#F T)9:22.97
70 8] 230 1 # 4 3 (5= £)9:23.36
8[ 6] 201 Eakth N3 (= « M £39:25.60
9[11] 183 ik & X3 (K ) 9:28.15
10[17] 306f= 1 23 (58 %)9:34.73
11[16] 575 H =t 3 (K ) 9:41.82
12[15] 79%= B Fngr2 T)9:44. 24
13[14] 1312 #H 3 (& 15)9:46. 38
14[ 4] 267/ K 3 (4 #H)9:54. 39
150 1] 243K H k3 G » Ik)10:08.58
16[18] 2594 & &2 (K 1E)10:10. 67

[12] 2445 W m#a3 G5 » W) RiH
[13] 2231E A #5 K3 (B 7= T B)RIG



BF &1 10mHI[0.914m] F:E (1082 1 LL—X)

[1#8] ( +0.9 m)

10 4] 291% 10 W 3% 3 (1 H)15.07
20 8] 612 = g3 (F %) 16. 81
3[ 5] TOREME ML AER 3 (4 T)18. 05
AT 6] S1/INEIRALIE 3 (35 5£) 18. 29
5[ 3] 5Bk IL L2 GR #)21.32
[ 1] 281 | 3 (h 1) R
[ 2] S1E 3 (K ) %15
[ 7] 273[ 2 43 (F ) %15
[342) (  +0.5 m)

10 4] 305%& &5 3 (b 52)15. 54
20 5] 2433 F ¥ {3 (F » I#)15.88
3[ 2] 9542 A K3 (7 & M JE)16.99
AT 1] 249% 10 Bifw 2 (] #1)18. 95
5[ 3] 2445 41| «%2@ yo ) 19.12
6[ 6] 25505 b B2 (A %) 19.15
70 7] 147%4:\:%?“@7 R £)19.25
80 8] 2214 /5 s K2 (F HE £)19.87
[548) (  +0.5 m)

108] 2277 1% & k3 (+ + = B)17.34
20 1] 21788 & 42 (L ) 17. 59
3[ 4] 245/~ Vg 22 ()il 7H)18.48
AL 7] 24TT. JE  FE2 (2 1) 20. 46
5[ 6] 1334 & 2 (K 15)20. 47
[ 311003 38 I3 (B 3 % bi) RohZE4E
[2] 201k 4 f£2#k3 (& - W 4&) &S
[ 5] 24847 JII ¥ 3F 3 (B ) &5
[748) (  +0.5 m)

10 3] 118 K # k3 (5 B 75 JE)15.84
20 4] 3097 1 £ 2 Gl 4)16.00
30 5]1033ar-t=TVyIx 3 (& X B 17.19
A0 2] 99AKAF W A3 (f + 4 4)17.49
5L 7] 181 b #Mb3(H F H)17.82
60 1] 1456 H #F e 2 (] £1)18. 64
70 6] 1314 )11 B2 (& 1) 20. 95
8[ 8] 8575 Z KEF2 (5 A 43)21.63
[9ﬁiﬂ] ( +2.1 m)

10 3] 268fn /M 342 (4 i) 15. 81
20 5] 2097 f PEE3 (I - & 25 ) 16. 44
3[ 4] 1035 A B3 ) 17. 68
4[ 2] 265#x 8 & A 2 (& H1)19. 26
5[ 8] 173k 4 &3 (2 Fl 4920.13
60 6] 27451 ¥ T3 (R £ JID20.17
707 718 E k2 (b k420,91

[248] ( +1.9 m)
10 5] 3104F JII 33 G ) 15.28
2[ 4] 2515 75 FE2 (FF M #5)17.78
3[ 8] 18T#A KT £ FH 3 (M H1)17. 90
AL 7] 29 Bk 3 (B £)19.15
5[ 1] 31THE B2 (F W 2)19.28
60 3] 16911 I8 SemE2 (75 4 I)19.61
70 2] 267 B AHS 2 (4 WE) 19. 77
[ 6] 21Z2H4 BEE3 (G B IXRSG
[448] ( +0.5 m)
10 1] 75/ b #f #3 (% ) 15. 35
o[ 8] 14148 5t & A3 (R )16, 77
3[ 4] 161 B #ik 2 (K #)16. 93
AL 7] 253 HEL2 O f 16)19. 44
5[ 5] 240\ H &3 (b 2 A £)19.52
60 3] 2719 4 #E &% 2 (WK #£)20. 03
[ 6] 101935 KWl (& ) 1
[ 2] 129K 7 M =3 (&SN E) RIS
[6%H] ( 0.9 m)
10 3] 218K F M3 (1L ) 15. 91
20 8] 311/nkk K#3(  JF )15.97
3[ 2] 239 H P A2 (b 2> 72 A)16.38
AL 1] 31E - M3 (4 £)17. 40
5[ 6] 119k F 43 (F & A F)17.57
60 5] 694 M 5 & 3 (K /) 18.19
7041 VTR 2k 2 (5 B 2% J§) 18. 58
8[ 7] M#EH T ME2 (E #)20. 07
[8#8] ( +1.7 m)
10 3] 1074 )11 183 (& %) 15.76
20 2] 67F1H HF2 (U - B4 F)16.30
3[ 6] 165K 2R3 (& ) 16. 35
AL 7] 313N FFES (5 WE 4)17.16
5[ 5] 203J8 & A 2 (o 1) 19. 84
60 1] 20587 F 83 (+ B %)19.92
7081 18EH w2 (7 1)22. 02
[ 4] 259 [ BE3 (K IE) 1
[104H]) ( 0.2 m)
106] 97FiE #i%is3 (3 J2)15. 58
20 3] 28115 Al 3 (B )16.19
3[ 4] A9 T3 (KK & & M)18.37
AL 7] 143% W BifE2 (| )19.25
5[ 2] 83| T#2 Gk A —)19.31
6[ 8] 283¢5 K #EEH2 (8 A #)21.24
705 O1FEJE &2 GL L £)21.54



iR B

(

+0. 1 m)
1[ 3] 291%% 1
20 5] 3103 JII
3[ 4] 75W E
AT 7] 9% ik
50 1] 268%n M
6[ 8] 1074 JII
70 2] 118 4+
8[ 6] 305FH ¥

I 3% 3 (fif]

3 (E
o3 (Hk
3 (G
FA2 (4

=3 (&
o3 OF B o

Wi 3 (fE

) 14.75
) 15. 36
) 15. 51
&) 15. 69
WH) 15. 77
%) 15. 89
J5)15.90
%)19.72



BF

[14H]
131
2271
J[7]H
474]8
5[51%%
6115
706] 1
8[8]

[24H]
10111
2[(51%
[7]HE
4[3]%H
506]uv
6 [8]i%

[2]12F

(4138

[3#H]
10715
2 (5] %
306]dH
4121
50111
64]
7031 %
881K

[(448]
1[5]
2[1148
341K
471/
5[814
6 [2] A

(6]

[3]4

(548]
1[7]4H
25185
3[3]H
411]F
504]=
6[2]K
106]F
8 [8]%k

1T#E4x100mR FENH2 1 LL—X)

X
e

N o

[i] (16555 7 2 AFF V4 A 1 1655676 i) 4 1 1654445 A
QI A w1 20728% P Y B 12173348 )1
P (2554248 H #F VA 1 2954431 #h £ 1 25546
HH (265227 K6 42 1 2651757 JEL 45 i 1 2652045 1L
JEL (1854122 iE 7 A 1 185508 &8 2 AC 1 18542(F i
JIN32E AR - H1TI33 W i1 712745 (& =11 1128 A4
A (TT2400T 55 28 1 T725%2 ji K 5 1 TT2918 111+ A= 1 TT287H jik
JE (36 B BEL AT M A 1 2133588 A Mk =} 1 2133311 7%

fidt = 1 16551/ Ak
(LINS WATVA S o=
1% B¢ 1 25547K TH
B 1265187 By

FOC249681 10 )11 O 12497045 F 28 7 1 24968%% PN 3 1 24957 HH £
5 (T2 23R ) 1 14124 PN I ak 1 8RR IRy 85 %k 1 147238
Z= (1153880 A 16 & 1 NIB3THE AR BB L 1 115307K /I 8k 1 116335 Jit
2% (3006678 HH - ABF 1 S00657% [l 1 e 1 30564 11 ¥ I 2 1 30951 A
Bp (301294 M A1 30130/ NEF DK RR 1 301326 &2 K5 £5 1 301247 i
6325/ 7 fPRAK 163284 2 3163248 &= K1 63264k K
IRF (24350K 111 #h ek 1 243494 JF R 124363k A B 1 243640 L
4 (3095055 Iy B = 1 3006275 111 3R L 1 309574 & AR K 1 3095100 g

KB 111768/ bR — 5 1 11758 167
B 12953787 R K 1 2054060
5 1 239254k = AR F5 91 1 239329
BT 118ILAR oL 12310 JII %1 126/ 4k
M A1 B13TR N ELET 1 2513887 F B S 1 2513409 H
HEC 11062585 A K 1105205 PN S 7 1 10627 L1 Iy
BE B 11193377 i 48 A 1 119366 B 1 oA 1 119365 &
11394755 B Y B 1139504 )11 AR 1 130450t ik

J (117634
2 (295477 371
(89285 Fr
(1208 3
Fd (251335% I
HH (10528587 i
Fr (119301 16
4k (139487 Fe]

4% 1 1764)11 44
L 1 295444 H
151 23928111 1

B (31528 %L
QLAY ST
1E (259481F f=
FH (156257
N QFYRRY A
¥ (57297k H

(311478 H
Z(

135035 |
B 1 14278 )1
B B0 1 2504978 JF:
ML /&5 1 1552775 i
TR 1 15735¢% i
% A 157360
B H 13114228 |

5K 1 3150475
=Rk 1141237 FL
72 1 1 2595145 A
BN 115535708 42
PR 11513242 [ %46 1 151314 &
K 15130 )11 A 157274

JE A 1311657k KRG 1 311554% A

=40 1 315225 )11
e A= 1 102075 i

e 1 1552675 ji

JIN2T2THE B8 B4 1 273477 S Fn 52 1 27365¢

B (3167TH 1 AE13103EF AR 1 A 13159 A
HH (29334608 3% 2 2F 1 29337 K B2 KR 1 2934585 K
ZE(O123 1L AR RART 1 611TFT il X IK 1 612100 ¥
B4 1 B 101800 ik (B RSF 1 10117 3%
S5 (ON8HP i 75 5 151227 )11
Fe (9597k 2 I FH1 957H 1

21 3156%% 5
Ve 1293424 4

K1 955 A w1 9700

fn

il 1)53.
2K 1)54.
5 A& 1) 55.
FH 1% 1) 55.
1 1 18546 A IIRF 3£ ACHS 1) 55.

7 1)56.
Ik =] 1)57.
Y EE 1) 57.

& 2} 1)53.
JC K 1)53.
% K 1)55.
#5480 1)55.
s 1)57.

BRIE1)59

22
12
82
89
96
12
12
96

21
84
15
51
36
25

it 7 1) K
% 1) B

JEEk1)51.

H1)52.
2 K 1)53.
% A 1)53.
J&% 5% 1) 53.
FnFE1)54.
% Al 1) 54.
ST Ek 1) 56.

i 5% 1)52.
B & 1)53.
M1 25946 )\ FE A BLER 1) 53.
A K 1)54.
KFn1)b54.
JiE 1) 55.
1) R EEAE

81
16
49
59
15
38
19
03

317
60
13
n
19
53

) Ri5

oK 121315 i Bk 1)52. 74

il 1) 54.
— F& 1)55.
BEJR16124)7 04 tuyv1)56. 04
K B 11011658 85 B K 1)57. 00
BAME1512047 67 5 & 151304 1E +1)57.19
22 %, 1%1)58. 15

23
44

HEQNA JR i 7 1 21310 B R HE 1 2T182R K =& A 1271330 7= K %5 1)58. 63



[648]
1[4]%
217t
3715
4574
5021k
6(6]H
1031%
8 [8]#k

[7#8]
1[7]%
28]
32174
44] 1
5[6]
6 (5148
103]%

[84#8]
1[2]#%
2[3]K
371
416]4%
50415
6 (517

(817

[948]
1[4]+
2815
3[3]K
472]F
5[7] %
6[6]%%

(51 H

[1048]
103154
251k
3[6]7H
417135
5[8]H
6 [4] 4%
T102]K

[11£8])
1[8]
20614
3[3]
4 5]
5[2]%
6 7]k

(414

il

%

EEA
]

S (209343 H:

FE (33164 H 15 1 33103 3% X Fn 1 330854 F & AR #A 1 3317/ )1

11 (2037738 ‘= & K 1 200075
it 11592008 A4

i (15926111 HH

B (16137 1 KR 1161340 &
VG (2456742 111 I 5% 1 245724% ik
B (205K Jit A& - 1 2292101 22
P (75321 i 5& A 1 76334 J

7= (201582 Jik
s (1072121 =
9 (28343<F J:

FH 521 20168 = I
i E 1107234 B
M5 756 1 283457] IRs
s 1200834 A
H( 3254k A K —1 322% T
FET (24736 — A3 BOSE 1 24734 1 iy
J (4319°6 N 1M 17 1 43184~ H

4% (100207 2 B 31100155 4R
FT (25338~ fiji 1 2533640 5§

I (21475 1%
T (7937 1
(179155 A
— (15135 IFf
5 (26131K 75

5 (2095158 J:

Aok 1214455 H
#1792/ 78
N 117913472 B
AR 211613485 H
T FH 126136 A

i[5 1 2064842

15 (258644 2 A 1 25728 &
2 ( BB8AHFERAR 1 S N
A (33BAL AR F Al 1 313824
B (23379 1 # v 1 2233901 HH
] (263820 AR 1 2637644 fk
(181635 28  JRL 2% 1 181687k 7

F(U431A 1
PR(303107 )11
A (10317F A
95 (1775365 A
Fd (891541 H
— (8334v8 H
i (18329/K Y

(14359 fip
R (2674811 =
JIT (2418975 M
1 (67304 H
4 (11345 A
M (6937 = &
fid (

L8 143005 T

2120395/ )1

[H. K 120400 By

I 5 1)53. 47
BE=}-1)54. 07

P 1 15925111 IRF Vi FH 1 19924587 - 52 ik 1) 54. 07
HT (187608 A+ 7R 1 187655 F2 R B K 1 187627 4% A 7R 1 18761585 A7 &L #H 1) 54. 09
15 2 1 16130730 {5 KRR 1 161331 I

TR B 1 24564307 i
K 122920/~ Ak

B K1 75358K 56 vl K 1 75345537 H K : 1) 51.

W% 211 201601F B 5 =F 12016748 1 & A 1)52.

5 HE 1 24515F0 H
7k 35 1 2019/ 8

AL LIBFHEY £ 5 1107253 &

1B =1 1 2834258

Ji AgfF 128359 H AR HHECHL 1) 53.
Fl R 12004942 1A B 1 2004875 ik 1 4 1) 54,
FOEL1 32455 7

13334 5

AN LURIERE 40 D1 418K M

SHE 143215 11 2B 55 1 43201 L1 By PN R A% 1) 65.

flaz M6 1 10004k &5 AR {1 100088% A8 — 45 1) 50.
%K1 2533148 s

— 1 BRTEE
fiaR1 21515 &
517935/ B

=5 119185 A
U, A1 1513399 H

126139/ IR

g1 214677 ik
1 79424k
Tieg B8 1 17914 (L
B 1161371 [
FA 1 2614188 I

Hi K 1 2005205+ Hit 45 ) 1 205467k 4+
B 12570411 K 1 257674 30

Git 1 559/ & 1 B51% H
HHE 1 313U A

P 921 31335
P B 1 223314 iz
5 't 1 2637444 H
FE K 1 1815848

e N 1 1453442 IR

{15 168 1 30306 P A1) H 1 30308 = =&

th #1 103183
— - 11715874 2
T 0 1892611
PRLEA 1 834018

K5 1) 11833377

HE E 1 143610 By
K0 1 2674276 7K
K M1 2418208 2
ot 1 67343 H
K 1 1134878 52
87516932k 5

ZEIR 1103214 &
1 b 1177637 2
4= 1 8917TH J=
7 183387 A

il & 1 223445 I
P 1 2637875 1L
15 ] 1 181607 i1k

T < 11453855
R F 13031147 H
2 411031947 H
Z B 11T 4
Fe 818916 -
K — 1 833975 A

i 11832850 A I 11833295 4

HE 3C 1 14307/)~ 1%

AR 1 26T47% ik SCR 1 2674408 35

B 7)1 21863 B

M 167265 [

Hze 111U %
8 A2 1 6931 )1

3% K 11436048 H

Jil 16 1 2418342 [if]
167334 R

3 B 111308 R AR A 1) 55,
12 1 1 693375 FH A KRB 1) 58.

38
37
31
04

BE R 1) 54.
Bt AN 1)55.
8 X 1)56.

84
44
48
41
97
42
75

iE 1~ 1)53.

4F J# 1) 55.
B 1) 58.

817
16
60
13

Fn1)5b2.
{IE K 1)53.
#%1)53.
H, 1% 1) 56. 06
9 1)57.03
e — 1) K

B HE1)52.74
% 3} 1)53. 05

#1)54.76

2% 1)55. 81
B ON1)57.03
K 1)60.52
G2 1) R

3k 4 1) 54.
& 1)55.
# 50 1)55.
— FH1)56.
&% N 1)57.
B3 1) 59.
FnZ=1)59.

50
31
32
08
29
00
54

K 1)52.

bt 1)53.
S F 1)5b.
K FE 1) 55.

30
34
06
80
83
51
) Ri5



R %
1[1]+
2 [5]1%
3415
4[3]
58]
6[2] %
ANEE::
8[6]

HHm

i

i
=

e

A

55 (2055158 J= H 52 1 2004842
4 (100207 78 B 211100165 4R
J (1176348 - DRk 1 11764) 1] 44
FT (25338~ fii 1 2533640 55
B (3152858 [R5 1 31523F |
Fr (2954795 3 EC O 1 296444
JI(2727THE 55 B At 1 213447

(143591 ffr - HE E 1 14361/ B

IS R 1 20952(F M en 45300 1 200462 & & E1)51.
fiZe 45 1 10004 25 AR 44 1 100088 A — 45 1)51.
— & 1 175855 IR A 3 1) 51,
R 103314 B Fn1)52.
=01 31522T )1 R 1) 52.
JEK 12954040 5 AfE1)52.
D1 273155 B Bl 1) 53.
3K 11436044 /i k1) 5.

R M1 1176870~ Bk
— 1 BRI
55K 1 3150475 j
28 1295378 I
S 12728k B¢
BE SC 1 14357/ 1%

56
56
57
35
38
63
25
11



BF £ 4 %x100mR FE(HEA2 M LL—XR)

QE:D|
104754
20714
3[5]#k
46]h
527
6 [8]%F
701]1H
8[3]EE

(28]
1[5]4
2(1]
371
4(3] &

S[2]# -

6[8]m
7[4] 7
(6] %

[3#H]
1021
203]1%
3[5]H
414]#%
511w
6[6]A

[71H

(8]

[4%8]
1[5]48
2 (6]
3[1]H
417]7
5214
64]
7[814&
8 3]k

(5%H]
1715
2[5]%
(1A
416]F
5[4]H
6 (8]
703174

(2] F

F
5

HE

e

My

il

B
F

b

il

R (2910440 HT
25 (10303 25 F-
5 (751575 431
I (2410077 F
i (1450755 ji&

BE 2F 3 2910648 A 5 A3 29111< 1 & 24 3 29100/)~ ]
M5 5 3 1030405 38~ - 3103024 W A% 3 10300k
72 2 75027 A& A3 15011147 K FH3 75001 |
HH 1, 3 2M084%: & ACHEHL 3 24122 K )11 6 ¥ 3 241135 H
KAEF3 145108 1 BEEA2 146124 £ hT /) 2 14513

22 5% 3)43.
AR 3£ 3) 46.
& 3) 46.
1= H.3)4]7.

BE2)4].
A2 (8102/)NJELIRALIA 3 8103 1L B KR 3 81044 H- & 155 3 81067 ik 5 =] 3)48.

817
28
50
59
11
80

(89201 fk B =k 1 89134 1% M W 2 8911/ =2
A (23131 4R £ 2 2303 L A BB AfE 3 230928 kA — 19 2 23005

VR (2672058 (L kel 2 2670279 FH A 34 3 26701 K
(14303 P FEAR A 3 1430185 A A+ 3 143105 B 4 i 3 14304000 T
T 5 3 1015075 350 5 ik 3 10150218 712 & 8 3 101601 T 1%

B (101506 ¢t £
4 (TT08 & (L

S (6720%K it

J& (9503/ £¢
M (691138
Iz (972344 )11

(29306 J11
75 (2432617 8%
P4 (255007 )11
— (8330%% By
B (3011675 &
Tig (133134 14
K(

7 (

(T4 (L
A (30903 A
HT (187114 H
(119023 A

i OEE 2 770185 K
% N2 6718%F0 H

72 3 95114
b5 £ 3 6902K T
A RS 2 971306 30

e 413 29310011 T
- 3 243002 1%

HH K 377005 M
B 267074 B
1k 2 9504 F S
¢ K 2 6906%F M
B 1 3 97164 5

1% 7 3 293013 15
IR, K 3 243014 |

i K 2 8903/)~ Bk

IR, S5 3 267007

203 TT03 %5 Fn HfE > 3) 47.

K 3 67007 B
B 305075k 2
55 3 691055 [
&2 97055 )1

15 K 3 293074 b
PRAT 3 2430251 i

16 9 3 055245 b B A 2 055005 BF T S 2 255034k 1

F K 2 83097 J:
52 30103k &
8 7R 2 1331485 R

K 3 T9084% 5L
& 52 2 3090445 K
B 51 3 187027 A
32 K3 119037k 1=

Bt A 3 8308/ 2E
£ 3 30104 - fi%

BOK 21381218 7k

Bt 3 79014

S 3 83264 (L
¥ 3 301084
T2 133103 11

w3 790755 AF
B55 K 3 300014 111 K A 3 309008 1 fik K 3) 46.
N 2187007 5  #218700K W FE3)46.
5 A7 3 11901 HREF fig ACHR 3 119044 PN Bk 72 3) 48.

97
23

B % 3) 50.
Bk 3)52.

40
80
21
08
HE3)47.10
R 7K 3)49. 34
% £3)52.19
B E]3) Ri5

& 21 3)44.
H 5 3) 45.
8 5 3)46.

— Ui 3)45. 14
155 1.3 46. 59
ZUF2)46.59
T-#72)47.55
i I 3)48. 23
T >} 2)52. 82

) Ri5

) Ri5

817
11
n
53

St —3)44.

He (57004~ F F55 K 3 57081 [
FE (29900 A Fn Ok 3 299104 11
Ze(155E & 31104 A

H (4901K ¥3 16 1K 3 49005% iy T & 3 490248 ik

Hi 3 570748 H

(2390138 J =i K 3 239130 P A 2 2390075 2
M (33015 H %3 33026% & 78 3 3304 i
B (261061 77 2F 2 26101788 )L 5% 54 3 261082 f=
X5 (61065% = fTE 3610107 A FH 3 610447 Hi
2% (305494 &+ ffi 3 30532FE 5 i 3 3050624 B
FET (193001 J & A7 3 193067% 12

K BB 3239044 A

fE #i 3 61034

A ( ) R

ME X 357224 & {6 $12)49.
%4602 29903Fh FH — 0 3 29907/ JR B KRR 2) 49.

K 311009E KRR 3 1103 £ 5 3) b2.
k52 49035 R K 2)52.

F113)45.
5413 33035 & FH 4 3) 45.
K A8f 2 261005 11 fik - 3) 47
=~ I§3)47.
% K 2 300267 kiR %6 3)48.
1 3 1930938 H- HH 7Z A0 3 1930775 B K Fi 3) 48.
PL(169020L A fE >~ 3 169038 A< 1 3L 3 16911 H -1 2 160007 H 2% ¥4 3) 48.

36
83
00
13

12
95
68
"
17
22
98

15



(6481
1[8]K
2031+
30515
4417k
50215
6 6] 7
717168

(1]

[7#8]
1[2]
20715
305] |k
4(8]8:
5[3]F
6414

(6175

[8#H]
1[8]1=F
2 [5]{%
321K
41411
561
671/
10314

[94H]
1[4]1%8
2(7]
S
4731 H
506] K

(2]

(8%

[10%8)
1[81%

2(6]# -

3[7]k
412]1%
50314
[4]&
[5]1%
[11£8])
1[3]rd
2[4])8
3[8] %
41717
5[2]k
6 [5]FE
[6]&

WoE
4 T

B 28
D
ﬁlﬁ

=

2
A7 A

2|
I

+ 7

i

1E (2991358 7L fF 3 2690058 Wi 7 ik 3 269113 A M3 5907 K 481 3)45. 62
5 (205087 A& A AE 3 2050675 N e ik 3 20004 KA PR% K 3 20000 |- 55 4E F] 3)46. 91
15 (25055 T/ A7 2 2 3 2506% 15 il vk 3 2502MT FHHOK B 3 2633k B il A= 2) 47. 20
HE (2T08[E 38k <5 =t 3 27109/ v2 - 35 0 3 2T116%2 =5 ol A 2 271001 A+ 7k 152 3) 48. 57
B (9101 & & B A 391004 7 HE3 9104 W ZEH 23 9107H o 15 2)49. 34
1 (203060 A 25 2 283024 A M2 223208 (L B AR 2 223238 K Tk K 2)52. 36
B (10030074 2 5F - 3 100310F0 FH - Red oA 2 10030675 3 B A 3 1003095 7L B3 K 2)55. 42
fl ( ) Ri5

V5 (24506%A fil T E 3 245004 [H 2 3 245000k HF 4 3 2464385 K §i2)46. 00
JER N2 A g 3 NTI0RS AR PR3 1170208 F i 3 11715 4l 45 N 3) 46. 15
BT K P k311514 H H M3 1752/ 1 il -3 17508 = K 3)46. 31
Be (10310615E B7 g A7 3 103113/ N B A &R 2108111 = 4 PR3 1031105 )11 & =.3) 48. 20
Fr (1291508 320 19 [ 2 12914 T8 15 R 2 120014 [0 EE % 3 1290048 = 503)50. 28
Ji (43071 H KRR 2 43034F H 3 3 430538 FH & =} 2 4301/ B 45F A0 3)561. 20
JiT (159017~ B )11 7% 3 159027K I %% i 3 1590040 H oK — 3 15907AE H  3E K 2) k#&

J (906875 [H 3 905#F f A &3 935 5 mHE2 90175 i+ %1 3)45. 71
(99007 A A8 443 99244 g KBS 2 990742 BF Bit 5 3 991068 35 Fii £ 3) 46. 21
A (1830078 J&F 1) 3 1830375 A AA M1 3 183014% [l #x3 183004 R #13)46.92
(49730 i 75 B 3 249740 [ B39 E By PR3 296 T HE Bk 3)47. 95
(318 R B ES3 311IRES &2 304 & #7523 30080 BF 5 £113)49. 55
4 (85014 H O th 3 850444 J/i B5 K 38502 H  {=385124% Ji  #2)50.74
i (1310032 )11 R A3 131040 jE - 13131020 H 1) SC 3 131034 1% ¥R K 3)52. 75

(2470208 - — PR 32470455 M Bic 3 1031l 22 A 3 UTI0OKR ¥ 5L 253)46. 28

(NUFEE K a3 3112058 M oo L 3 311217% ik 0 A 33181 i (B Ik 3)47. 23
(5174 M 5E7b2 505N ik ZH A3 50885 A H23E 3 5007 ik 1 A 3)47.84
B (810 H /N A 2 1812108 B2 181325% )5 ROEE2 1812752 & H.2)49.76
55 (510500 Bk FL ek 3510178 A i i 3 51037 3 K 153 5100/ )11 B 5% 3)50. 18

Z5( ) Ri5
B ( ) Ri5

A (251008 FH 5 3 25106 H &) 1% & 3 25118{nT 75 91 55 2 25102 H E ¢ =5 A\ 3) 45. 56

SO (20904 By R OK 3209004 £ PE 3 20000% A& EL320001IR 3% 7 OFE3)45. 56

G Q0TI80 7% 5221070240 JI1 420310700k & A< E 310705 T jgk 732 =} 3) 46. 96
A IT3065E 4 4 & 3 173032 A% Y = v X 3 173008 H1 - fpt A7 3 1731008 320 fjt A 3)48. 25
P50 . BR oK 31572100 A& A7 2 15727 Wy 9L 2= 2 157250 38 =215 2)53. 47

FH ( ) Ri5
T ( ) Ri5

AL - MhAsF 3 32K [ 52 — 3 3130077 2l AR 3 31313%E )1 713)45.97
A6 (139085 I6F S35 3 13901)11 55 $R A 3 130054 g B2 & 3 1390482 ¥ K 3)46.33
JIN(2703%: 4 2 5 3 27245 /K K BR 2 21200 75 fifiviE 2 27104 w 423)46. 73
eI - BER 216101/ A BRAE 315107/ O B 3 151063 vF STk 3) 48. 69
UL(30302/F =] B2 3z 2 30301+ 4 il UK 2 303037 1% E EX 2 30300/A £ - #f 3)49. 00
T (281052 5 1B A7 2 281000, gk 3 2810144 i 75 BE 3 81094 = = 1) 49. 66
fif] ( ) Ri5



[1248]
10617
2[7]t
3348
4120
504174
6814

(5] 1

[13%8)
1[8] %
2[2]48
3[3]A
461485
5[4]4
6517
70715%

R g
1[5]
2414
3[8]H
4 [3]4%
506]%
6 2] K
70717

o)

8[1]¥ -

AN

i

Fn

FH

&

el

(210924 4+

L1 (20318 FE-ff RIS 3 208090+ fig

= (1410142 5
HH (631675 A
9 (283017 FH:
B (914K g
FH (1050544 HH

g (103306 1. /55
1 (31201 IR}
JIH(T1025 1
Z= (115184 M
B (22147 =
1 (2212671
% (17700728 Ji

L (291044 mT
WE (267210 H
FH (29306 )11
(T8 (L
1 (239015 Ji
1E (259134 7T
Fd (2510055 H

ik 2% (20004 B

FEARS201MER K FH3)45. 72
i 3 2030405 [ 4t A 3 200035 HEA& ACER 3 ) 46. 0
OR3P e B /> 21400655 72 4803 14100E 8517 4 3) 48. 29
% 3 2 6306 K (4714 3 630THR AIE A 3 630472 il 1% 4 3)48. 73
5 23 2831710 A 472 283140 FH K 48T 2 2830678 7 3)49. 33

102 2000619 4 P2 22910 5 53 2 Bh 2 2200900 1 /2 K 2)50. 26
FHE 31051608 38 A b2 2 1051706 32 B 0 2 10500 DR/ B 3) P ife

HEOP 3211585 A 3tk 2 210872

AT 3 10330775 ik
k5 = 3 3116 &
A2 TIE H
K B3 3 11511 R
Bk 3 2210055
32 - 3 2210760 518
B R 31770148 Ji

B 44 3)45. 89
PE A 3)45. 91
{1 2)47. 94
HAh3)48. 74
5% 1)48. 82
K #i§ 3)50. 27
H ##%3)52. 05

R il 3103319 Ly A<
4= #i 331034 I
H AL 371035 &
FLBE 2 1151048 A %4 A 3 1151375 M
KAt 2 2311 [l e Ik 2 2210177 {5
DE I 2 221037 VE 1A KRR 3 22106
1R K 317104/ B 3 1F 3 17706 1+

B 2 10001 I
i il 3 31114 H
Bz K 3 T107%K 1L

72 5:5) 43,9
% 2-3)44.08
— Ui 3)44.37

WAEIVINE O
5 34 3 26701 F A
1% 3 29301 B i K 3 293074 b
B 379016 # #37907/% #F e —3)44.57
e A 22300075 B ACEE32004m A FH3)44.T1
Bk 3B A W3 B00TEE K A5 3)44.87
15 £5 3 251189 76 F 22 25102 H B4 B A 3) 45. 14
PEOE 3200059 & 32000157 % 7 M 3)45. 63

W %4 3 29100/~ ]
o 5 3 26700 A

e =} 3 2910647 A<
2F 42 2670274 H
HE 0,3 293101 R
K18 3 7908%% £
35 X 3 B3 H

FF 3 2590042 liF
532106 H &=
K 3 209004 £



BF KEESHA - B R

1[ 5]
2[27]
3[18]
3[20]
5[42]
5[53]
71[57]
8[17]
9 [24]
10 [47]
11 [50]
12[ 6]
13 [44]
14 [38]
15 [55]
16[ 1]
17 [11]
18[ 3]
19 [16]
19 [37]
[12]
[14]
[26]
[34]
[36]
[40]
[62]
[56]
[ 4]
[ 9]
[10]
[22]
[30]
[(51]
[ 2]
[ 7]
[ 8]
[13]
[15]
[19]
[21]
[25]
[28]
[29]
[31]
[32]
[33]
[35]
[39]
[41]
[43]
[45]
[49]

155 N H %2 (U H) 1m77
218 & R 4 A3 (1 W) 1m77
209 7% A H 3 (Y- kk 2% ) 1m74
12 &% 243 s > Ji) 1m74
188 /g ¥ 72 Bl 3 (ff mT) 1m74
305 F Bk EpoE 3 (FH %) 1m74
127 £/ R K3 (i fE) 1m71
243 5+ % §EAM 3 (32 4 IR 1mTH
201 [ fE A3 (3 - B &) ImTd
IR m# 3 (& £ » B) 1Tl
248 4 )11 g =F 3 (KB H) 1m68
1937 1 43 (& H) 1m68
100 £ & 2 (& £ » &) 1m68
128 K ¥ k2 (i fB) 1m65
2044 B FE 3 (HF [r) 1m65
202 5 & 3 (- A 1m6b
25 BT FHRCKEA 3 (N /4 f8) 1m65
N7e A K3 (7 B A KD 1m6bd
67 %% BEI3 (U - FAAE) 1m60
2453611 S22 (B I PE)  1m60
Tk 2|#H2 OGS > JIl) 1m60
273 J] BB 3 (O 7) 1m60
99 JedE W A2 (P& - » 4 1m60
31#&E: + #E3 (4% £) 1m60
204 1% MR K3 (36 4 ) 1m60
1433 A KK 3 ( ) 1m60
251 FATFRES 2 (#£ H F) 1m60
107 K& f&KHE3 (k& - 4% 1m60
161 #8 3 2 (K i) 1mb5
3134+ HhAst3 (B9 W 4 1mb5
301 HA /A3 (W3 A& ) 1mbdb
169 A fE3 3 (W 4 K) 1mb5
247 % H B K3 (A ) 1mbb
203 A4 HESL 3 (p [lr) 1mb5
63 FH & &1 (i H) fe8x7% L
57 B¢ e B3k 3 (K o) sEERA L
5B BEw 2 (¥ /) BRER7E L
187 )10 EHE2 (i mT) Eok%E L
291 R A K3 (i A BRERA L
205 ¥ %2 (+ B i ) @ikl L
139 g5 A ol K 2 (JIE ib) @Bk L
27 ez RifEsk 2 (#f 2= JI) iB8g7% L
51 ) 3 KB 3 (K ) feERA L
145 &)1 E M2 (5 k) fE8R7% L
69 # H #L &3 (k H) 5E8k7& L
173 A& H2(k o = Efibsl
S m M3 ( Jit ) ERER7E L
ST S 2 (G M) B8k L
81 7%k w3 (B JiE) FRER7E L
103 75 ik fEHE2 (78 ) ek L
259 & )il A3 (K iE) @R L
TT#% 7 #M3 (E Kk ) EEHEL
14418 1 B2 ( ) REfREL

AEw b+
AEw b+
AEw +
AEw b+
BEw k
BEw k
BEw k
AEw b+
AEw +
BEw k
BEw k
AEw +
BEw k
BEw k
BEw k
AE Y k
AE Y k
AEw +
AE Y k
BEw k
AEw +
AE Y k
AE Y k
BEw k
BEw k
BEw k
BEw k
BEw k
AE Y k
AEw +
AE Y k
AE Y k
BEw k
BEw k
AE Y k
AEw b+
AE Y k
AE Y k
AEw b+
AE Y k
AEw k
AEw b+
AE Y k
AEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k



[54] 157 & A
(23] 267 fix H
[46] 283 #fq

[48]

5 F &

M k3 (&
1k 2 (4
RAE3 (T K
g3 OR

W) gEBExAE L BEw bk
WH) Ri5 AE Y k
) RI5 BEw k
&) Ri5 BEw k



BF Hakabt RE

1[ 4]
2[ 5]
3[ 1]
47 7]
5[11]
6 3]
70 9]
8112]
9[ 8]
9[10]
11[ 2]

[ 6]

[13]

105 H A3 (E & H) 4m00
201 R BF K% 3 (& - M %) 3m80
100 HFAMK—ER 3 (£& & &7 &) 3m60
106 (L6 KFn3 (k& ™) 3md0
109 /4K s K3 (k& H) 3m30
245 7 £ #EE3 (b I 7)) 3ml0
246 =5 Wd =F 3 (Il pE) 3mi10
9 /By FnE2 (& + » &) 2m80
213K #F  ZF2 (OF ) 2m40
2023+ W &2 (& - B Z) 2m40
157 =i 2l = 2 (4 ) 2m20
305 #F - FofE 3 (fH %) Ri5

ST KK 3 (8 ) Ri5



BF 1FERHKA - B RE5

1[66]
2[79]
3[52]
4[59]
5[20]
6 [78]
11 4]
8[81]
9 [55]
10 [54]
11 [42]
12 [38]
13 [82]
14 [37]
15[71]
16 [53]
17 [33]
18 [31]
19 [68]
20 [61]
(89]
[45]
[30]
[65]
[41]
[ 3]
[15]
[17]
[26]
[87]
[22]
[ 6]
[ 9]
[72]
[44]
[23]
[85]
[12]
[25]
[ 7]
[77]
[24]
[ 5]
[ 8]
[10]
[13]
[14]
[16]
[18]
[19]
[21]
[27]
[29]

209 A A REFR 1 (I - #k 25 Fo)

57 g KA1 (OR 0
17728 K1 (kL k&)
TKEZZAL (& )
2534 W o1l GR 1l )
145 #5 R0 k R 1 ([ D)
245 Tk MR ER L (B JI )
18146k KE1(H & H)
251y F EHE1(E W M)
47Bm K1 R B
WA —%1UE + » )
203 & )1 EOK 1 (R ()
105K &1 (kE & /|
205 M fgnl G B m
N74+ Otk O B 2 )
205 7+ HERE 1 (B o8
243 K f 1 (IR
2008 1 & N1 (- [H &)
241 # B JhiB 1 (F JID
STH o 1 (8 )
223 ARG E 1 (& 72 1 &)
263 = ik B 1 (B fi])
1034 & =11 &)
145 ) FHk1 (R )
271 4 Bt JEL 3 1 (FK #E)
213+ A1 (L W )
3B A 1 (M W )
239 e 2 RFBHR 1 (B 2 12 7))
107 848 Hm1 Gk - i)
258K KBh1 (S /4 48)
10 F221 (% A )
227 Bk PR 1 (9 9 & Bf)
139 2 % ¥EfE 1 (B ib)
305 BL {5 KRS 1 (fH %)

83 A K—1(&EmMAE —)
129 b A& e N1 (AL )
247 — RS EUER 1 (D HT)
295z Ve FEE 1 O 28 )
28375k HEM L (70 A )
ok &1 7 %)

229 U % KifE1 (& B)
259 J\EAFALE 1 (K 1E)

BT HE BdhlGErs )

2553 #h EH 1 (R )
1017 1 Al (e H)
79 FBE L = 1 (i )
127 = =S 1 (k& JIH)
61 (AR K1 (F %)

A I 1 G )
69 K5 A1 (K )
WBEY EEI1(F )
161 JF E HERk1 (K iH)
165 & B Ml & 1 () )

FLERTE L
FLERTE L
FLERTE L
FLERTE L
FLERTE L
FOER7E L
FLERTE L
FLERTE L
FOER7E L
FLERTE L
FLERTE L

5m13 -2.5BEw k
4m95 -1.3BEw k
4m88 -3.0BE v ~
4m86 -1.3BEw k
4m76 -0.8AE v bk
4m75 +0.8BE v ~
4m73 -1.8AE v bk
4m71 +1.3BEw k
4m66 +0.2BE v ~
4m66 +0.2BE v +
4m64 -1.5AE v +
4m62 +1.3AE v +
4mb5 +1.7BEw bk
4m54 0.0AEw bk
4mb50 -1.1BEw b+
4m46 -0.7BE v k
4m46 -1.8AE v k
4m41 -1.3AE v b+
4m40 +1.2BEw k
4m39 -1.1BEw k
4m39 +0.9BEw b+
4m35 +2. 1AEw bk
4m26 +0.1AEw bk
4m25 -1.4BEw b+
4m23 +1.1AEw k
4m20 +0. 1AE v k
4m20 +1.5AE v b+
4m20 +0.6 AE w +
4m20 -1.2AE v k
4m19 -1.2BEw b+
4m18 -1.2AE v k
4m16 +0.3AE v k
4m15 -1.9AE v b+
4m14 0.0BEw k
4m13 -0. 1AE v k
4m10 -0.6 AE w b+
4m10 -0.5BE v k
4m09 +0.3AE v k
4m09 -1.3AE v bk
4m06 +0.4AE v k
4m03 +2. 3 NERELEKE LBE v +
4m02 +1.1AEw bk
AE Y k
AEw k
AEw b+
AE Y k
AEw +
AEw b+
AEw +
AEw +
AEw b+
AEw +
AEw +



[34]
[35]
[36]
[39]
[43]
[46]
[47]
[48]
[50]
[(51]
[56]
[57]
(58]
[60]
[64]
[67]
[69]
[70]
(73]

261 gn K &
91 +fi Il
311 3 H
20742 K
5 &R
301 %k
177 & 1%
NS e)
317 K

D CR
B a1 (W
JEVPE 1 (35
i 1 (S5
Bl (F
163N H Jefd 1 (W
267 % ik SCR 1 (4
27 75 B B 1 (b
303 =% KA1 (K
185 Bk GhF
75 M A &) 1 (HE
1851 Bk A1 (§
29 7Ly h 1 (B
89 & JII 41 (H
183 A K1 (K

(7411009 40 &4 1 (H

[75]
[76]
[80]
(83]
(84]
[86]
(88]
[90]
[ 1]
[ 2]
[11]
[28]
[32]
[40]
[49]
[62]
[63]

3 KF=a721 (&
187 By A m A 1 (fE
157 a2 A pddk 1 (4
299 1N SRE 1 (E
1M9% 1 1 (Av
291 B A TEHE 1 ([
281 X W E R 1 (B
63 K8 &2 B 1 (dF
293 R a1 (F
172w Fkl (k
169 A H & AE 1 (F
273 )5 H B1 (°F
MEAR Ba1 (&
309 e~ KRB A 1 (i
31575k =1 (O
43 F ) EH 1 Ca
143 8y HE3C 1 (

o E

SRRz

i

O =

I
IR

>N

) seER7E L
) FREE L

) RLEx7E L
W) ELER7E L
W) RREKTE L
B) e L
4%) ReER7E L
&) ReEx7 L
1) ReERE L
59) ReERE L
i) B8R L
JII) EER%E L
) G L
%) RCERTE L
F) FLER7E L
J7) REER%R L
) BCER7E L
F) FLER7E L
i) FE8k7E L
R) zex7E L
) REER%E L
HT) FE8k 78 L
R) BCERTE L
1) G287 L

S ) RREA L

) Fodkia L
) AL
H) kA L
H) R i5
) Ri5
) Ri5
) Ri5
#) Ri5
B Ri5
) Ki5
Ji) R 35
) Ri5

AEw +
AEw b+
AEw +
AEw +
AEw b+
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
AE Y k
AEw +
AEw +
AE Y k
AEw b+
AEw b+
BEw k
BEw k
BEw k



BF HBERHKA - B RE5

1[59]
2 [56]
3[37]
4[10]
5[ 4]
6 [39]
7196]
8[12]
9[29]
10 [71]
11[16]
12 [50]
13 [25]
14 [73]
15 [77]
16 [33]
17 [91]
18 [32]
19 [84]
20 [44]
(87]
[52]
[31]
[68]
[ 2]
[75]
[20]
[42]
[85]
[15]
[46]
[38]
[57]
[43]
[18]
[ 1]
[ 3]
[ 5]
[ 7]
[ 9]
[13]
[14]
[17]
[21]
[23]
[24]
[27]
[28]
[30]
[35]
[36]
[40]
[45]

188 X H 3 (I f7) 6m37 +1.8BEw k
QBEE Hipk3 (2 + 7 &) 6m24 +1.1BEw k
252 H@E f&&E3 (FE W m) 6m21 +2.0AE Y k
297 A A3 (&b 2k ) 6ml7 +0.1AE Y k
288 & M fEH A 3 ([if] H) 6m16 +1.TAEw +
294 11F @EE3 (B fn W) 6mi3 +1.5AEw b
202 i P EHpk 3 (& - H 4Y) 6m12 -0.8BEw k
118N M #ikE3 (J7 B 2 J/) 5m88 +1.2AEw bk
309 # (L K% 3 (G 4%) 5m84 +1.4AEwy k
21377 H #1463 (OF ) 5m82 +2.8 AF2 5mb4 +0.4BE - +
203 = kG JE SE 3 (R (1) 5m79 +1.0AEw k
217 RALERFH 3 (1 W) bm77 +0.4BEw b+
1034 W Ak 3 (W 2) 5m77 +3.6 2252 5m38 +0.5AE v b+
201 & g 3 (i - H 4%) 5m66 +0.5BEw k
145 &K % W 2 (i 1) 5m63 +2.3 2252 5mb8 +0.6BE w ~
183 gt H A 3 (K A1) 5mb7 +0.9AE w k
M4k %—3 (M W %) 5md6 +1.2BEw k
29 il — 03 (B £k M) 5m44 +1.0AE Y b
BJBDEY KIK3 (E ¥4) 5m38 +0.4BEw k
9% &H K2 (5F &) 5m37 -0.1AEw k
672 H M3 (- L) 5m37 +0.6BE Y k
311 3 g i 3 ( JR ) 5m32 +2.1 2882 5m10 0.0BEw k
209 A Bp B OK 3 (¥ - k2 F) 5m28 +0.6 AEw k
251 /BP0 #& 3 (FF B m) 5m27 +1.2BEw b
99 &5 K J% 2 (2 £ » ) m25 -1.4AEw +
9N H 233 (L 1 &) 5m24 +2.5 2058 5m02 +1.8BE w +
261 8 1 k2 (7 %) m22 -1.3AEw +
97 30 HiH3 (O %) 5m21 +2.9 452 5m16 +1.8AE v +
77HEE K223 (& 4 5m21 +0.6BE v k
89 fm i MHWI2 (H # B 5m8 0.0AEw k
20578 BFEWE 3 (R 2% ) 5mi8 +0.6AEw k
301 Ef #FH3 (W 3 A ) bmi4 +0.8AE v k
141 @ g R 22 2 (R &) 5mil -0.5BEw k
16952 HFHE2 (H 4 R d4ml0 +1.1TAEwY +
245 PR AE TERE S (7p JII PE) 5m08 0.0AEw k
255 A A EE 3 (R #) 5m04 -1.0AEw k
293 — [ ®E3 (P o W) EHLL AEv Lk
213 K2 (K W B EHLEL AEv b
17rHE W2 (E o &) EEEL AEY b+
101 RH #ik2 (= M) &8kl AEY b
223F0H L2 (B -7 &) EfEEL AEY b
T K2 (F ¥ B EHELEL AEY E
157 )8 E£1E2 (& R Bk L AEY R
VBEWE RE2(F M) &8kl AEY b
219 0T H K2 (E i) e L AEw b
271 a1 FHiA 2 (Bk ) kL AEY k
A9 Fh e EFE 2 (B It & M) B8l AEw b
85 FTH MMz 2 (FF ﬂ ) iLERH L AEw b
259 2 FE AF] 3 (K 1IE) i88% L AEv b+
139# B =3 (| b) &8k L AEY b
81 I —2 (B JiE) EBExE L AEw b
39 W MEH 2 (i ) &8k L AEY b
21¢#:8 BE3 (M & JIDEHLZEL AEY k



(4711027 i A

(48]
(53]
[54]
[55]
(58]
[60]
[61]
[62]
[63]
[66]
[67]
[69]
[74]
[76]
[78]

267 JiK
25 4 1
79 £ 1L

151 i H

291 4

k2 (%
W3 (4
®A 3OS
KAE 3 (4%
KHE 3 (P
122 (i

21 1% e 3 (7H

63 4 A
187 K JF
119 37 5
221 i
283 ik i

g 2 (%
K iE 3 (g
5K 3 (Fr
P 2 (F
K2 (H

205 KA PR B3 (1

249 % m
AN E
305 1 A

[79]1 1003 74 7%

[81]
[82]
[83]
[86]
(88]
[89]
[90]
[92]
[93]
[94]
[95]
[ 6]
[ 8]
[11]
[19]
[22]
[26]
[34]
[41]
[49]
[(51]
[64]
[65]
[70]
[72]

243 5 By
247 3 7
N7 A
263 15 H
55 I #+f
313/ fa
SRS
173 B

A2 Ul
E 2 (N
#EH 2 (58
A3 (B
mE2 (G
R 3 (A
MRE 2 (5
x5k 2 (%
w2 (fih
w2 (/M
HiZ#E 3 (R
WA 3 (%8

193 ME R R A 2 (1

107 /1N it
61 7)1l
83 & 16
13 %K 11
43 /N 7R
227 & 1L
143 75 %
75 &t I
241 (L1 %
129 F kf
181 & J5
115 f@ 1
31 H B
11 i g7
166 {7+ i
69 % H

[80] 1015 #& H

KR 3 (I
it 2 (3

A
r

A%i"\} 7‘7)\)‘

JE.
i

)

B) e L
i) B8R L
fif5) RCER7E L
T) &G L
—) REETE L
) REERAE L
) 7 L
) RE7E L
HT) FE8k78 L

$ )RR L

) BLERTE L
4%) seER7E L
%) ek L
) REEk7E L
JII) ek L
%) seik7E L
Be) BCER7E L
) FE8k7E L
) G287 L
J7) BoEk7E L
li]) L8k L
) G L
) BCERTE L
) G L
1) ReERAE L
) REk7E L
1) Fedx7a L
%) FoEkE L

A2 (EMAE )RS

=2} (&

B R 35

B2 Ca )RS
KELD(T T & B)R5

HEE 3 (
K2 (¥
B3 (h

biEN

PN

) Riz
rd) Ri5
) Ri5

— 3 (MAEN E) Rig
B2 (B & B)RXREG

SLEL 2 (8
5 3 (8%
ok 2 (4
HES (F

38 3 (Ok

b—.

%) Ri5
H) Ri5
%) Ri5
lit]) R 15
HT) R 15

fifz 2 (1l F % Be) Ri5

AEw +
AEw b+
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
AE Y k
AEw +
AEw +
AE Y k
AEw b+
AEw b+
AE Y k
AEw +
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k
BEw k



BF Ha@fahix(5. Okgl RAE

10481 2124 H24=E3 (Gl & ) 12m78
2[29] 105 W ME3 (L & H) 12m67
3[64] 100k 1 K213 (ff + 47 4&) 12m40
41421 313/M)II #:3k3 (F W &) 12mi1
5[20] 2518 H B F¥3 (FF H r) 12m08
6[14] 75147 K¥H3 (¥ ) 11m72

7026] 127 =y7 oA =3 (& - JH) 11m71
8[12] 1844& [ 43 (K ) 10m87
9[8] MME B &3S > JI)10mbl
10[61] 255 540 &= (B8 3 (1 ) 10m47
11[32] 3K BE=F3 (i ) 10m44
12[41] 57 &I PEKR2 (R ) 10m34
13[25] 131 Jn gk (&3 (& f5) 10m33
14[15] 141 3&°F 3w —3 (IR ) 10m31
15[51] 203 J5i 1 fd K 3 (+h (11) 10m25

16 [17] 67 %)l K3 (Y « A3 ) 10m25
170 9] 14385 K A3 ( i ) 10m17
18[39] 99 ¥Es5 W 3 (ff £ 7 &) 9mIl
19[31] 187 % w2 (i fT) 9m80
20 (53] 239 W OfEKEE 3 (H > 42 &) 9ImTb
[36] 311 Gk KRR 3 ( Ji ) 9m61
[ 8] 89T W3 (H B ) 9Imb9
[60] 919 FMHE2 G 1 &) 9m35
[45] 165 LW & K2 (/) H) 9m29
(2211001 F 1l #HBE2 (b K A% =) 8m92
(23] 205 (LM HWEZ}2 (+ H 1 &%) 8m88
[ 6] N7 o KEM2 (U7 B A K 8m78
[34] 106 i AF JEE =2 (L & ) 8m68
[55] 163 Otk i 2 ( Fos ) 8mb6
(18] 61 %F .  FI3 (°F %) 8mbb

[ 1] 81H IFE BE2 (% JiE) Fodk7E L
[ 3] 63#RA BERC 1 (HF H) fedxE L
(4] MR BE2 (4E #) B L
[ 5] 21E4# #iwgs (b & I EB8R7%L
[10]  5FEEE 3 (K ) ReExE L
[11] 247 H il kK 3 (#B H) fE8k7E L
(13] 79 705 7=k =073 2 (488 ) BBEk% L
[16] 33 AR [E=}3 (8 H) o8 L
[19] 43HEE}2 Cax H B @E&REL
[21] 165 & B &H 3 (B i) EogR7E L
[24] 293 B[ ¥ #E A7 3 (ff o ) ERERAL
[27] 103 i&HF == KER 2 (74 ) B L
[37] 209 )il 11 &k 2 (- %k ) 508% L
[38] 273 &% LM 3 (F J7) ReER%E L
[43] 259 % BE 2 (K iE) fEefxi L
[44] 1194&@ ] At 3 (F7 & 2 ) kAL
[46] 142 & W Z=# 2 (4R ) BLERAE L
[(47] 267 )\ -+ #3 (4 WR) ERER7AE L
(49] 193 ik H2 (15 M) ek L
[50] 25Nk W E3 (S £ 18 EiRAEL
[652] 299 Jvevx HRh3 (b £ M) sEEkAL

[(54] 9T s KEEZM 2 CA ) Eo8%% L
[56] 305 /A K #sik2 (48 %) ikt L



(57]
[59]
[62]
[63]
[65]
[66]
[68]
[69]
[71]
[ 2]
[ 7]
[28]
[30]
[33]
[35]
[40]
[67]
[70]

1288 W —¥2 (il - JH)EEEREL
283 it o fEAE 2 (VW O ) ERERAE L
95 A #i2 (B & K@) BBk L
14437 N 22 ( e ) iEERE L
49 B W Rk 2 (B = & H) BEEREL
O A HIk3 (5F Je) foEkiE L
213 EA2 (G W B GE&HEEL
202 & L2 (k- B &) RBEEL
243 )1 &2 (F IR EEEHEL
17/)hs #hE2(E o B XE
151 B = KRHR3 (FE 8 & ) Ri5
223 /NRIEKER 3 (& 12 1F ) Ri5
AN R L3 ) Rig
241 KA Kk 3 (F JID) ki35
69 & WF 43 (K H) Ri5
01/ B Fn2 (W 3 A ) R
200 &2 W A3 (i - W &) R
219 =i /8 &3 (k i) Ri5



B WmiE RE

1[16]
2[ 2]
3[11]
41 8]
5[ 5]
6 [23]
71[25]
8[ 9]
9[17]
10 [22]

[ 4]

[ 6]

188 B8 7B 3 (it

105 Gk F¥wR3 (k£ &
201 (L E fE A3 (- H
204 A HAEKRER 3 (H

1271 =y7 an—=p 3 (& -
202 HERH o3 (- H
2150 & FE3 (
N7E8 |/ 3 (7 B »
103 J&3&/~Y b 3 (V8
245 K Ey Zih 3 (FB )l
218K AH=3 (1
218 F23(GH B

[ 711033 7% fi% 55 #hi 3 (/X

[14]
[ 3]
[20]
[19]
(18]
[27]
[21]
[24]
[ 1]
[10]
[12]
[13]
[26]
[28]
[15]

il

22 k& FTE2 (G
143 /bR BE 42 (
283 &= B L2 CGF
283 0 frE 2 (M
203 & WKy b2 (p
M FJR B4 3 (
25 &1 HER3 (N
187 /2 B+ 2 (8
IR FEF¥2 (5F
19 KA Fak2 (7 &€ 2
198 A RS2
253 AR MEA2 (1
251 Il EERES 2 (£ M
WERN #FH2 R L+
141 75 ik 5x K2 (iR

g
/|

BE Y

M) 2423 =
H) 2304 =
=) 22693
[L1) 2264 53
JB) 2232 53
=) 22133
1) 2046 =2
Ji) 1998 =
) 1976 1
75) 1960 =
M) 1894 =
1) 18834
B2 1875/
) 1680 =

) 1547 3
I7) 1471 5
45) 1448 53
1) 13405

) 1333
) 13318
M) 1289 =
J2) 1028
) 1010=
T) 710
H) 608

r) IR e
) P EE

) Ri5



Bx miE1 1 0mHI0.914m] (448)

(1#8]
1[ 3]
2[ 5]

( +1.0 m)
10505 & FFoR 3 (k=
218K~ AA=E 3 (1

3[ 8]10337% g B 4 3 (&

41 6]
5[ 7]
6 4]
110 2]

(3#8]
1[0 3]
2[ 4]
3[ 7]
4[ 6]
5[ 5]
6[ 8]
[ 2]

127=v7 an—} 3 (&
215 3k H 223 (i
143/ pk B 122 (
Ok B Hi¥2 (5r
( +0.9 m)
188/ &6 7= B 3 (f
1038~ b 3 (74
2435+ HE L2 Gp
2835 1 L& 2 (P
2034 g 2 (f
254 1 #ER3 (N
14175 ik 55 K2 (IR

=

X H
5
I

N

o+

) 15.53
M) 15. 59
5 17.28
) 17. 44
1) 18. 22

)19.19
J£)19.39

i) 15. 57
%) 16. 38
i) 19. 56
%5)19. 68
111) 20. 07
1%)20.13
) Ri5

(28]
1[ 2]
2[ 5]
3[ 8]
4[ 3]
5[ 4]
6[ 7]
7[ 6]

(48]
10 2]
20 7]
3[ 3]
41 5]
5[ 8]
6 4]
[ 6]

( +0.9 m)

204 H &K AR 3 (R 1) 16.
201 M5 N3 (G - H Z)16.
20K KR B2 Gl B BT
1789 = w3 OF B 28 JF)17.
MOKH G2 (FF &2 28 m)19.
253 K g2 GE b m)21.
1985 A RS2 (F T)21.
( +0.6 m)

245k %y 4 3 (Il PE)16.
SN B A3 ( Ji )16.
202 S ot 3 (- H OZ3)16.
2154 & 723 (H 1N 17.
WERI FH2 R - » 1T
1874 B Bk + 2 (& iH7) 20.

251)11 L& KER2 (7% M F4)36.

33
34
34
87
65
19
57

15
11
99
21
40
31
93



BF migfaixz(4. Okg]

F) 14m05
JiE) 13m09
) 11m66
i) 11m12
(L) 10m77
£3) 10m57
Ji1) 10m49

[ 6]
[ 5]
[ 4]
[ 2]
[ 8]
[23]
[ 9]
[25]
[16]
[11]
[22]
[17]
[24]
[28]
[20]

[ 711033 75 ik

[ 3]
[14]
[10]
[13]
[27]
[26]
[18]
[12]
[21]
[19]
[ 1]
[15]

2155 F223 (Il
127 =y an—=} 3 (&
218K MA=E3 (i
105 H5 Ak &Fan 3 (1
204 F AR ER 3 (H

202 | ES S e 3 (s -
W3 (B

174 =
2158 & £ 3 (F
188 Bi ¥ 72 FH 3 (Ht

201 1M fs N3 (s -

245 KBy ik 3 (Hh
103 & A~Y ~ 3 (7
1871 B B+ 2 (j

MPEHINI H2 (kL r

243 = BE L2 (5F

143 /N Ak BE 42 (
22k R #wA 2 G

19 R Gripk 2 (v & 7

253 AR Mgk 2 (K
M ZF i B4 3 (
251 )11 B KBR 2 (1
203 & IR b2 (rf
198 A RS2
25 &1 K3 (N
283 i 1 it 2 (P
9K H FEH2 (5
141 75 ik 5x K2 (iR

5

i

H

H

J

b

B3 (2 3 [

e
L

L

Ji
H

£
ZS

Hi)
HT)
%)
[it))
)
HT)
)
Ifzy)
B

)
)
)
H)

)
F)
HD)
™)
&)
#%)
&)

9m75
9mb6
9m02
9m00
8m89
8m75
8m15
8m10
8m06
Tm85
m74
m73
Tm67
Tmd4
Tm04
6m74
6m41
6m34
6m19
5m35

) Ri5



B¥ HEESHA - B

[11]
[16]
[ 4]
[23]
[25]
[ 2]
[ 5]
[ 8]
[ 9]
[21]
[19]
[22]

[ 711033 7% fi% 55 #hi 3 (/X

[17]
[27]
[ 3]
[ 6]
[14]
[18]
[20]
[10]
[ 1]
[12]
[13]
[24]
[15]
[26]
[28]

201 1w fs A3 (s -

188 i # ZZPH 3 (18
218 KT =3 (1

202 | ES oo 3 (e -

2154 BB R 3 (f
105 HE & #9r 3 (k
127 =y nrA—=} 3 (&
204 A HAERER 3 (H

N7 R &3 (5 B 2

254 1 FER 3 (OR
283 0 MtE 2 (M8
245 K By #4h 3 (F

103 P&~ R~ 3 (14
S B A3 (
143 /N #E BE 1 2 (
21 5% 7223 (I
22 K% #AE 2 (I
203 7 W k2 (o
243 F¢ BE 2 G
119 R Baipk 2 (A
9RE FiV2 (5F
19 AR TR 2 (4
253 1 A ik 2 OR
187 /2 B b+ 2 (1
141 75 ik sk 2 (AR
251 )11 B3 KRR 2 (fF

H

H

B

bi
%N
J

Ji.

H

Z5) 1m74
H7) 1m74
N) 1m68
%3) 1m68
() 1m65
) 1m62
JE) 1m62
() 1mb3
Ji)  1mb3
&) 1mb3
%) 1m50
75) 1mb0
B%) 1mdb
4) 1mdb

) 1m45

) 1md0
) 1m40
) 1md0
() 1m40
%) 1md0

S ) 1m35

&) ReER7 L
) REEE L
1) G287 L
HT) FE8k7& L
) Ri5
F) Ri5

P ERI H2 kL r B RS



BF pmiE4 0 Om RS (448)

(148]

10 5] 18742 2 Jit 2 (8 i) 56. 15
20 3] 9R¥ FE¥2 (Gr F2)59. 87
3L 4] 2034+ W&f k2 (o [11)1:00. 78
4T 71 198K RIS 2 (F T)1:04.94

[ 6] 2534 A& 582 Gk (L )&,

[34]

1T 8J1033% 9 43 (4 SC [ 556.03

20 3] 11789 12 fmm B x@>56.62

3[ 6] 1037 ¥ k3 (74 A)57.17

4 5] 245K % @HQS (7 JIl 78)57.73

504] 213 HF223 (0 B E)1:02.51
(7] 3% FEa3( JFH S8,

(28]
1[ 5]
2[ 6]
3[ 4]
4[ 3]
5[ 7]
[ 8]
[448]
1[ 2]
2[ 3]
30 7]
4[ 8]
5[ 6]
6[ 5]
70 1]
[ 4]

143/ R B 42 (

2837 1 At & 2 (F
227K %% i%ﬁiz (i
243 BE D2 CGF
254 1 FER 3 (O
MR H k2 (F

2040 JARCER 3 (
1885 ¥ 72 B 3 (&
201 (L g

127=y7 nr—=1 3 (e

10505 Ak & 95 3 (&
2158 & =3 (f

218K =3 (1

A3 (8 -
202/ # o o3 (-

By Hr Bt

o -

)58.73
%5)59. 69
F)59.70
%) 1:00. 47
#8)1:03. 15

W) %Eﬁa)

(1) 54. 35
1) 54. 84
%%)55.73
%%)56. 51
fiE) 57. 57
FH)57. 98
(1) 58. 44

) 8



